BANK BRADESCO Form 6-K March 11, 2015

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2015 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In february 2015 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family Dependants	(x) Controller's		
Type of Cocurities/Derivatives	Openning Balance	9/ of participation	
Type of Securities/Derivatives	Quantity	% of participation Same type of Shares	Total
Common Shares	1,532,279,718	72.8395	36.4197
Non-Voting Shares	46,367,237	2.2041	1.1020
_	Closing Balance		
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of Shares	Total
Common Shares	1,532,279,718	72.8395	36.4197
Non-Voting Shares	46,367,237	2.2041	1.1020

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In february 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family	(x)Board of	() Board of E		() Aud		() Technical and	
Dependants	Directors	Office	_	Commit	tee	Advisory Agencies	
_	(0 ''' /D	Openning E	Balance				
Туре	of Securities/De	rivatives		Quanti	ty	% of participation	
						Same type of Total	
	Camanan Char			140	10.000	Shares	
	Common Share			,	18,906		
	Non-Voting Sha	res Month Mov	romont	19,9	88,654	0.9501 0.4750	
Turno of	Dualcan			Ougatitus	Duico	Value in D¢	
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$	
Common Shares		Dung	27-Feb	47	37.90	D¢ 1 701 00	
Common Shares		Buy	27-Feb 27-Feb	47	37.90	T ,	
		Buy		300		' '	
Common Shares		Buy	27-Feb	300	38.09	' '	
Common Shares		Total	0 5-1-	647	05.44	R\$ 24,593.30	
Non-Voting Shares		Buy	6-Feb	485		R\$ 17,028.35	
Non-Voting Shares		Buy	6-Feb	1465	35.12	. ,	
Non-Voting Shares		Buy	6-Feb	686	35.13	' '	
Non-Voting Shares	Bradesco S.A.	,	6-Feb	724		' '	
Non-Voting Shares	C.T.V.M.	Buy	6-Feb	326	35.15	+ ,	
Non-Voting Shares		Buy	6-Feb	532		' '	
Non-Voting Shares		Buy	6-Feb	235	35.17	' '	
Non-Voting Shares		Buy	6-Feb	9	35.18	'	
Non-Voting Shares		Buy	6-Feb	576	35.19	' '	
Non-Voting Shares		Buy	6-Feb	149	35.20	' '	
Non-Voting Shares		Buy	6-Feb	133		R\$ 4,682.93	
Non-Voting Shares		Buy	6-Feb	116	35.22	R\$ 4,085.52	

	_	- - .			_ +
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	261	35.26	R\$ 9,202.86
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	11	35.32	R\$ 388.52
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	-	6-Feb	133	35.36	R\$ 4,702.88
<u> </u>	Buy	6-Feb	9		
Non-Voting Shares	Buy			35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	-	6-Feb	86	35.56	R\$ 3,058.16
<u> </u>	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	132	35.65	R\$ 4,705.80
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	464	35.68	R\$ 16,555.52
Non-Voting Shares	Buy	6-Feb	733	35.69	R\$ 26,160.77
Non-Voting Shares	Buy	6-Feb	184	35.70	R\$ 6,568.80
Non-Voting Shares	Buy	6-Feb	203	35.71	R\$ 7,249.13
Non-Voting Shares	Buy	6-Feb	172	35.72	R\$ 6,143.84
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	456	35.74	R\$ 16,297.44
Non-Voting Shares	Buy	6-Feb	142	35.75	R\$ 5,076.50
Taon-voling Shares	Duy	0-1 60	144	55.75	ι ιφ 5,070.50

Non-Voting Shares	Buy	6-Feb	2255	35.78	R\$ 80,683.90
Non-Voting Shares	Buy	6-Feb	2063	35.79	R\$ 73,834.77
Non-Voting Shares	Buy	6-Feb	271	35.81	R\$ 9,704.51
Non-Voting Shares	Buy	6-Feb	533	35.12	R\$ 18,718.96
Non-Voting Shares	Buy	6-Feb	686	35.13	R\$ 24,099.18
Non-Voting Shares	Buy	6-Feb	726	35.14	R\$ 25,511.64
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75

Name Mathematical	D	0.5-1-	F00	05.40	D# 40 705 40
Non-Voting Shares	Buy	6-Feb	532	35.16	R\$ 18,705.12
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	77	35.31	R\$ 2,789.49
Non-Voting Shares	•		12	35.32	R\$ 423.84
<u> </u>	Buy	6-Feb			•
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	131	35.38	R\$ 4,634.78
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
<u> </u>		6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84

Non-Voting Shares	Buy	6-Feb	738	35.69	R\$ 26,339.22
Non-Voting Shares	Buy	6-Feb	182	35.70	R\$ 6,497.40
Non-Voting Shares	Buy	6-Feb	203	35.71	R\$ 7,249.13
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	461	35.74	R\$ 16,476.14
Non-Voting Shares	Buy	6-Feb	140	35.75	R\$ 5,005.00

	_				
Non-Voting Shares	Buy	6-Feb	2,254	35.78	R\$ 80,648.12
Non-Voting Shares	Buy	6-Feb	186	35.79	R\$ 6,656.94
Non-Voting Shares	Buy	6-Feb	261	35.81	R\$ 9,346.41
Non-Voting Shares	Buy	6-Feb	533	35.12	R\$ 18,718.96
Non-Voting Shares	Buy	6-Feb	686	35.13	R\$ 24,099.18
Non-Voting Shares	Buy	6-Feb	725	35.14	R\$ 25,476.50
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	532	35.16	R\$ 18,705.12
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	131	35.21	R\$ 4,612.51
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
<u> </u>	•	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.27 35.28	R\$ 3,351.60
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	5	35.39	R\$ 176.95
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
. ton toning onares	Day	0 1 00	77	00.02	1 (φ 1,07 - 1.1 -

Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84

Non-Voting Shares	Buy	6-Feb	738	35.69	R\$ 26,339.22
Non-Voting Shares	Buy	6-Feb	182	35.70	R\$ 6,497.40
Non-Voting Shares	Buy	6-Feb	203	35.71	R\$ 7,249.13
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	461	35.74	R\$ 16,476.14
Non-Voting Shares	Buy	6-Feb	139	35.75	R\$ 4,969.25
Non-Voting Shares	Buy	6-Feb	2,251	35.78	R\$ 80,540.78
Non-Voting Shares	Buy	6-Feb	190	35.79	R\$ 6,800.10
Non-Voting Shares	Buy	6-Feb	260	35.81	R\$ 9,310.60
Non-Voting Shares	Buy	6-Feb	1	35.12	R\$ 35.12
Non-Voting Shares	Buy	6-Feb	514	35.14	R\$ 18,061.96
Non-Voting Shares	Buy	6-Feb	324	35.15	R\$ 11,388.60
Non-Voting Shares	Buy	6-Feb	534	35.16	R\$ 18,775.44
Non-Voting Shares	Buy	6-Feb	234	35.17	R\$ 8,229.78
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	-	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.32	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
•	Buy			35.34	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	133	35.36	
Non-Voting Shares	Buy	6-Feb	9		R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06
Non-Voting Shares	Buy	6-Feb	23	35.55	R\$ 817.65

Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45

Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	200	35.71	R\$ 7,142.00
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	215	35.73	R\$ 7,681.95
Non-Voting Shares	Buy	6-Feb	460	35.74	R\$ 16,440.40
Non-Voting Shares	Buy	6-Feb	143	35.75	R\$ 5,112.25
Non-Voting Shares	Buy	6-Feb	694	35.78	R\$ 24,831.32
Non-Voting Shares	Buy	6-Feb	42	35.79	R\$ 1,503.18
Non-Voting Shares	Buy	6-Feb	83	35.81	R\$ 2,972.23
Non-Voting Shares	Buy	6-Feb	1	35.12	R\$ 35.12
Non-Voting Shares	Buy	6-Feb	514	35.14	R\$ 18,061.96
Non-Voting Shares	Buy	6-Feb	324	35.15	R\$ 11,388.60
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	577	35.19	R\$ 20,304.63
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	11	35.32	R\$ 388.52
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Tion voing onaics	Duy	0-1 60	<i>,</i> –	00.40	ι ιψ Δ,υΔυ.υΔ

Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06

Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	85	35.56	R\$ 3,022.60
Non-Voting Shares	Buy	6-Feb	277	35.57	R\$ 9,852.89
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	732	35.69	R\$ 26,125.08
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	215	35.73	R\$ 7,681.95
Non-Voting Shares	Buy	6-Feb	458	35.74	R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	143	35.75	R\$ 5,112.25
Non-Voting Shares	Buy	6-Feb	694	35.78	R\$ 24,831.32
Non-Voting Shares	Buy	6-Feb	42	35.79	R\$ 1,503.18
<u> </u>	-	6-Feb	83	35.79	
Non-Voting Shares	Buy		15	35.11	R\$ 2,972.23 R\$ 526.65
Non-Voting Shares	Buy	6-Feb			•
Non-Voting Shares	Buy	6-Feb	1465	35.12	R\$ 51,450.80
Non-Voting Shares	Buy	6-Feb	685	35.13	R\$ 24,064.05
Non-Voting Shares	Buy	6-Feb	726	35.14	R\$ 25,511.64
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	150	35.20	R\$ 5,280.00
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	196	35.25	R\$ 6,909.00
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
•	•				

Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40

Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	-	6-Feb	134	35.65	R\$ 4,777.10
<u> </u>	Buy	6-Feb	304	35.66	R\$ 10,840.64
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	910	35.67	R\$ 32,459.70
Non-Voting Shares	Buy	6-Feb	466	35.68	R\$ 16,626.88
Non-Voting Shares	Buy	6-Feb	735	35.69	R\$ 26,232.15
Non-Voting Shares	Buy	6-Feb	180	35.70	R\$ 6,426.00
Non-Voting Shares	Buy	6-Feb	201	35.71	R\$ 7,177.71
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	215	35.73	R\$ 7,681.95
Non-Voting Shares	Buy	6-Feb	458	35.74	R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	139	35.75	R\$ 4,969.25
Non-Voting Shares	Buy	6-Feb	2253	35.78	R\$ 80,612.34
Non-Voting Shares	Buy	6-Feb	1432	35.79	R\$ 51,251.28
Non-Voting Shares	Buy	6-Feb	270	35.81	R\$ 9,668.70
Non-Voting Shares	Buy	6-Feb	534	35.12	R\$ 18,754.08
Non-Voting Shares	Buy	6-Feb	686	35.13	R\$ 24,099.18
Non-Voting Shares	Buy	6-Feb	725	35.14	R\$ 25,476.50
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	131	35.21	R\$ 4,612.51
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
<u> </u>	•	6-Feb	26 95	35.27 35.28	R\$ 3,351.60
Non-Voting Shares	Buy	O-LAN	30	35.20	1 ιφ 3,331.00

Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88

N	5	0.5.1	_	05.07	D# 040 00
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
•	-	6-Feb	186	35.54	
Non-Voting Shares	Buy				R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	735	35.69	R\$ 26,232.15
Non-Voting Shares	Buy	6-Feb	183	35.70	R\$ 6,533.10
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	173	35.72	R\$ 6,179.56
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
Non-Voting Shares	Buy	6-Feb	140	35.75	R\$ 5,005.00
Non-Voting Shares	Buy	6-Feb	2,260	35.78	R\$ 80,862.80
Non-Voting Shares	Buy	6-Feb	188	35.79	R\$ 6,728.52
<u> </u>		6-Feb	262	35.81	R\$ 9,382.22
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	534	35.12	R\$ 18,754.08
Non-Voting Shares	Buy	6-Feb	685	35.13	R\$ 24,064.05
Non-Voting Shares	Buy	6-Feb	725	35.14	R\$ 25,476.50
Non-Voting Shares	Buy	6-Feb	326	35.15	R\$ 11,458.90
Non-Voting Shares	Buy	6-Feb	532	35.16	R\$ 18,705.12
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80

Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60

	_				
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
•		6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares		6-Feb	42	35.64	R\$ 1,496.88
•	Buy	6-Feb	132		
Non-Voting Shares	Buy			35.65	R\$ 4,705.80
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	464	35.68	R\$ 16,555.52
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	183	35.70	R\$ 6,533.10
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	173	35.72	R\$ 6,179.56
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
Non-Voting Shares	Buy	6-Feb	142	35.75	R\$ 5,076.50
Non-Voting Shares	Buy	6-Feb	2,260	35.78	R\$ 80,862.80
Non-Voting Shares	Buy	6-Feb	190	35.79	R\$ 6,800.10
Non-Voting Shares	Buy	6-Feb	258	35.81	R\$ 9,238.98
Non-Voting Shares	Buy	6-Feb	534	35.12	R\$ 18,754.08
Non-Voting Shares	Buy	6-Feb	686	35.13	R\$ 24,099.18
G	- J			- · -	, , , , , , , , , ,

Non-Voting Shares	Buy	6-Feb	725	35.14	R\$ 25,476.50
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80

	_				
Non-Voting Shares	Buy	6-Feb	131	35.21	R\$ 4,612.51
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
<u> </u>	•	6-Feb	75 5	35.49	R\$ 177.45
Non-Voting Shares	Buy		108		· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	6-Feb		35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	735	35.69	R\$ 26,232.15
Non-Voting Shares	Buy	6-Feb	183	35.70	R\$ 6,533.10
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	173	35.72	R\$ 6,179.56
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
•	•				• •

Common Shares	Total		1,000		R\$ 33,100.00
Common Shares	Sell	2-Feb	1,000	33.10	R\$ 33,100.00
Non-Voting Shares	Total		128,014		R\$ 4,544,597.53
Non-Voting Shares	Buy	6-Feb	262	35.81	R\$ 9,382.22
Non-Voting Shares	Buy	6-Feb	188	35.79	R\$ 6,728.52
Non-Voting Shares	Buy	6-Feb	2,260	35.78	R\$ 80,862.80
Non-Voting Shares	Buy	6-Feb	140	35.75	R\$ 5,005.00

Non-Voting Shares	Sell	13-Feb	8100	36.30	R\$ 294,030.00			
Non-Voting Shares	Sell	13-Feb	500	36.32	R\$ 18,160.00			
Non-Voting Shares	Sell	13-Feb	200	36.34	R\$ 7,268.00			
Non-Voting Shares	Sell	13-Feb	700	36.35	R\$ 25,445.00			
Non-Voting Shares	Sell	13-Feb	300	36.36	R\$ 10,908.00			
Non-Voting Shares	Sell	13-Feb	400	36.37	R\$ 14,548.00			
Non-Voting Shares	Sell	13-Feb	100	36.38	R\$ 3,638.00			
Non-Voting Shares	Sell	13-Feb	300	36.39	R\$ 10,917.00			
Non-Voting Shares	Sell	13-Feb	1000	36.41	R\$ 36,410.00			
Non-Voting Shares	Sell	13-Feb	500	36.43	R\$ 18,215.00			
Non-Voting Shares	Sell	13-Feb	100	36.44	R\$ 3,644.00			
Non-Voting Shares	Sell	13-Feb	700	36.45	R\$ 25,515.00			
Non-Voting Shares	Sell	13-Feb	747	36.46	R\$ 27,235.62			
Non-Voting Shares	Sell	13-Feb	1500	36.51	R\$ 54,765.00			
Non-Voting Shares	Sell	13-Feb	1000	36.52	R\$ 36,520.00			
Non-Voting Shares	Sell	13-Feb	500	36.60	R\$ 18,300.00			
Non-Voting Shares	Sell	13-Feb	500	36.61	R\$ 18,305.00			
Non-Voting Shares	Sell	13-Feb	500	36.63	R\$ 18,315.00			
Non-Voting Shares	Sell	2-Feb	2,000	33.20	R\$ 66,400.00			
Non-Voting Shares	Sell	2-Feb	2,000	33.30	R\$ 66,600.00			
Non-Voting Shares	Sell	2-Feb	800	33.50	R\$ 26,800.00			
Non-Voting Shares	Sell	2-Feb	38	33.57	R\$ 1,275.66			
Non-Voting Shares	Sell	2-Feb	200	33.84	R\$ 6,768.00			
Non-Voting Shares	Sell	2-Feb	1,000	33.85	R\$ 33,850.00			
Non-Voting Shares	Sell	2-Feb	1,000	34.01	R\$ 34,010.00			
Non-Voting Shares	Sell	2-Feb	1,300	34.08	R\$ 44,304.00			
Non-Voting Shares	Sell	2-Feb	1,000	34.10	R\$ 34,100.00			
Non-Voting Shares	Sell	2-Feb	1,000	34.12	R\$ 34,120.00			
Non-Voting Shares	Total		27,985		R\$ 990,366.28			
	Transfer Causa	2-Feb	986					
Non-Voting Shares	Mortis	2-1 60	900	_	R\$ -			
	Transfer Causa	2-Feb	986	_				
Non-Voting Shares	Mortis	2-1 60	900	_	R\$ -			
	Transfer Causa	2-Feb	986	_				
Non-Voting Shares	Mortis	2-1 60			R\$ -			
Non-Voting Shares	Total		2,958		R\$ -			
Closing Balance								
Type of Securities/Derivative	•	% of participation						
Same type Total								

Company: Bradesco Leasing S.A. Arrendamento Mercantil

Group and (x)Board of Directors () Board of Executive Officers () Audit Committee () Technical Family

and Advisory

of Shares

0.7044

0.9548

0.3522

0.4774

14,818,553

20,085,725

Common Shares

Non-Voting Shares

		Agencies
Openning Balance		-
Type of Securities/Derivatives	Quantity	% of
		participation
		Same Total
		type of
		Shares
Common Shares		0 0.0000 0.0000
Non-Voting Shares		0 0.0000 0.0000
Closing Balance		
Type of Securities/Derivatives	Quantity	% of
		participation
		Same Total
		type of
		Shares
Common Shares		0 0.0000 0.0000
Non-Voting Shares		0 0.0000 0.0000
	Common Shares Non-Voting Shares Closing Balance Type of Securities/Derivatives Common Shares	Type of Securities/Derivatives Common Shares Non-Voting Shares Closing Balance Type of Securities/Derivatives Quantity Common Shares

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In february 2015 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	()Board of Directors	(X) Boa Execut Office	tive	() Audit Committee		Γechnica sory Ag	
	Openning		,,,				
Type of Securities	•	Dalance		Quantity	% of Sh	• .	pation Total
Common Sh	nares			286,459	C	0.0136	0.0068
Non-Voting S	Shares			1,850,149		0.0879	0.0439
3	Month Move	ment		, ,			
7 1	Broker	Operation	-	Quantity P			
Common Shares		Buy	27-Fe	•		\$ 94,875	
Common Shares		Buy	27-Fe	,		\$ 95,225	
Common Shares		Buy	27-Fe			R\$ 3,733	
Common Shares		Buy	27-Fe			R\$ 3,734	
Common Shares		Buy	27-Fe			R\$ 3,736	
Common Shares		Buy	27-Fe			R\$ 3,737	
Common Shares		Buy	27-Fe			R\$ 7,482	
Common Shares		Buy	27-Fe			R\$ 3,742	
Common Shares		Buy	27-Fe			R\$ 3,743	
Common Shares		Buy	27-Fe			R\$ 3,744	
Common Shares		Buy	27-Fe			R\$ 3,745	
Common Shares		Buy	27-Fe			R\$ 7,492	
Common Shares		Buy	27-Fe			R\$ 7,496	
Common Shares		Buy	27-Fe			R\$ 3,750	
Common Shares		Buy	27-Fe			R\$ 3,752	
Common Shares		Buy	27-Fe			R\$ 3,754	
Common Shares		Buy	27-Fe			R\$ 3,755	
Common Shares		Buy	27-Fe			R\$ 3,767	
Common Shares		Buy	27-Fe			R\$ 3,769	
Common Shares		Buy	27-Fe			R\$ 3,771	
Common Shares		Buy	27-Fe			\$ 11,319	
Common Shares		Buy	27-Fe			R\$ 7,548	
Common Shares		Buy	27-Fe			R\$ 3,778	
Common Shares		Buy	27-Fe			R\$ 3,779	
Common Shares		Buy	27-Fe			R\$ 3,780	
Common Shares		Buy	27-Fe	b 10037	7.85 F	R\$ 3,785	5.00

Common Shares	Dun	27-Feb	10037.88 R\$ 3,788.00
Common Shares	Buy	27-Feb	10037.89 R\$ 3,789.00
	Buy		
Common Shares	Buy	27-Feb	10037.93 R\$ 3,793.00
Common Shares	Buy	27-Feb	10038.06 R\$ 3,806.00
Common Shares	Buy	27-Feb	10038.09 R\$ 3,809.00
Common Shares	Buy	27-Feb	20038.10 R\$ 7,620.00
Common Shares	Buy	27-Feb	10038.12 R\$ 3,812.00
Common Shares	Buy	27-Feb	10038.21 R\$ 3,821.00
Common Shares	Buy	27-Feb	10038.25 R\$ 3,825.00
Common Shares	Buy	27-Feb	10038.27 R\$ 3,827.00
Common Shares	Buy	27-Feb	10038.29 R\$ 3,829.00
Common Shares	Buy	27-Feb	10038.30 R\$ 3,830.00
Common Shares	Buy	27-Feb	10038.32 R\$ 3,832.00
Common Shares	Buy	27-Feb	20038.38 R\$ 7,676.00
Common Shares	Buy	27-Feb	20038.39 R\$ 7,678.00
Common Shares	Buy	27-Feb	40038.40 R\$ 15,360.00
Common Shares	Buy	27-Feb	50038.41 R\$ 19,205.00
Common Shares	Buy	27-Feb	20038.42 R\$ 7,684.00
Common Shares	-	27-Feb	40038.43 R\$ 15,372.00
	Buy		The state of the s
Common Shares	Buy	27-Feb	40038.44 R\$ 15,376.00
Common Shares	Buy	27-Feb	30038.45 R\$ 11,535.00
Common Shares	Buy	27-Feb	10038.46 R\$ 3,846.00
Common Shares	Buy	27-Feb	30038.47 R\$ 11,541.00
Common Shares	Buy	27-Feb	20038.48 R\$ 7,696.00
Common Shares	Buy	27-Feb	40038.49 R\$ 15,396.00
Common Shares	Buy	27-Feb	30038.50 R\$ 11,550.00
Common Shares	Buy	27-Feb	30038.51 R\$ 11,553.00
Common Shares	Buy	27-Feb	10038.52 R\$ 3,852.00
Common Shares	Buy	27-Feb	20038.53 R\$ 7,706.00
Common Shares	Buy	27-Feb	30038.54 R\$ 11,562.00
Common Shares	Buy	27-Feb	10038.55 R\$ 3,855.00
Common Shares	Buy	27-Feb	20038.56 R\$ 7,712.00
Common Shares	Buy	27-Feb	10038.58 R\$ 3,858.00
Common Shares	Buy	27-Feb	10038.59 R\$ 3,859.00
Common Shares	Buy	27-Feb	10038.60 R\$ 3,860.00
Common Shares	Buy	27-Feb	10038.61 R\$ 3,861.00
Common Shares	Buy	27-Feb	10038.62 R\$ 3,862.00
Common Shares	Buy	27-Feb	1,50037.95 R\$ 56,925.00
Common Shares	Buy	27-Feb	50038.09 R\$ 19,045.00
Common Shares	•		•
	Buy	27-Feb	60037.40 R\$ 22,440.00
Common Shares	Buy	27-Feb	40037.88 R\$ 15,152.00
Common Shares	Buy	27-Feb	1,00037.95 R\$ 37,950.00
Common Shares	Buy	27-Feb	1,00038.09 R\$ 38,090.00
Common Shares	Buy	27-Feb	50037.95 R\$ 18,975.00
Common Shares	Buy	27-Feb	50038.09 R\$ 19,045.00

0					
Common Shares	Buy	27-Feb	500	37.95	R\$ 18,975.00
Common Shares	Buy	27-Feb	500	38.09	R\$ 19,045.00
Common Shares	Buy	27-Feb	1,000	37.95	R\$ 37,950.00
Common Shares	Buy	27-Feb	500	37.95	R\$ 18,975.00
Common Shares	Buy	27-Feb	500	38.09	R\$ 19,045.00
Common Shares	Buy	27-Feb	1,000	37.95	R\$ 37,950.00
Common Shares	Buy	27-Feb	1,000	38.09	R\$ 38,090.00
Common Shares	Buy	27-Feb	1,372	35.75	R\$ 49,049.00
Common Shares	Buy	27-Feb	2,000	37.40	R\$ 74,800.00
Common Shares	Buy	27-Feb	800	37.43	R\$ 29,944.00
Common Shares	Buy	27-Feb	200	37.88	R\$ 7,576.00
Common Shares	Buy	27-Feb	600	37.39	R\$ 22,434.00
Common Shares	Buy	27-Feb	500	37.43	R\$ 18,715.00
Common Shares	Buy	27-Feb	500	37.51	R\$ 18,755.00
Common Shares	Buy	27-Feb	400	37.56	R\$ 15,024.00
Common Shares	Buy	27-Feb	800	37.30	R\$ 29,840.00
Common Shares	Buy	27-Feb	200	37.40	R\$ 7,480.00
Common Shares	Buy	27-Feb	500	37.95	R\$ 18,975.00
Common Shares	Buy	27-Feb	500	38.09	R\$ 19,045.00
Common Shares	Buy	27-Feb	2,000	37.47	R\$ 74,940.00
Common Shares	Buy	27-Feb	2,000	37.40	R\$ 74,800.00
Common Shares	Buy	27-Feb		38.28	R\$ 38.28
Common Shares	Total		38,373		R\$ 1,450,694.28
Non-Voting Shares	Buy	6-Feb	² 515	35.14	R\$ 18,097.10
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-voling Shares	Duv	6-Feb	532	35.16	R\$ 18.705.12
Non-Voting Shares Non-Voting Shares	Buy Buy	6-Feb 6-Feb	532 234	35.16 35.17	R\$ 18,705.12 R\$ 8.229.78
Non-Voting Shares	Buy	6-Feb	234	35.17	R\$ 8,229.78
Non-Voting Shares Non-Voting Shares	Buy Buy	6-Feb 6-Feb	234 9	35.17 35.18	R\$ 8,229.78 R\$ 316.62
Non-Voting Shares Non-Voting Shares Non-Voting Shares	Buy Buy Buy	6-Feb 6-Feb 6-Feb	234 9 576	35.17 35.18 35.19	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44
Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Buy Buy Buy Buy	6-Feb 6-Feb 6-Feb	234 9 576 150	35.17 35.18 35.19 35.20	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00
Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Buy Buy Buy Buy Buy	6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132	35.17 35.18 35.19 35.20 35.21	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72
Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares Non-Voting Shares	Buy Buy Buy Buy Buy Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117	35.17 35.18 35.19 35.20 35.21 35.22	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74
Non-Voting Shares	Buy Buy Buy Buy Buy Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220	35.17 35.18 35.19 35.20 35.21 35.22 35.23	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60
Non-Voting Shares	Buy Buy Buy Buy Buy Buy Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24 19	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.32 35.33	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46 R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24 19 133 9	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33 35.34 35.36 35.37	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46 R\$ 4,702.88 R\$ 318.33
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24 19 133 9 129	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33 35.34 35.36 35.37 35.38	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46 R\$ 4,702.88 R\$ 318.33 R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24 19 133 9 129 4	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33 35.34 35.36 35.37 35.38 35.39	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46 R\$ 4,702.88 R\$ 318.33 R\$ 4,564.02 R\$ 141.56
Non-Voting Shares	Buy	6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb 6-Feb	234 9 576 150 132 117 220 195 260 26 95 46 44 79 12 24 19 133 9 129	35.17 35.18 35.19 35.20 35.21 35.22 35.23 35.25 35.26 35.27 35.28 35.29 35.30 35.31 35.32 35.33 35.34 35.36 35.37 35.38	R\$ 8,229.78 R\$ 316.62 R\$ 20,269.44 R\$ 5,280.00 R\$ 4,647.72 R\$ 4,120.74 R\$ 7,750.60 R\$ 6,873.75 R\$ 9,167.60 R\$ 917.02 R\$ 3,351.60 R\$ 1,623.34 R\$ 1,553.20 R\$ 2,789.49 R\$ 423.84 R\$ 847.92 R\$ 671.46 R\$ 4,702.88 R\$ 318.33 R\$ 4,564.02

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06
Non-Voting Shares	Buy	6-Feb	23	35.55	R\$ 817.65
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	182	35.70	R\$ 6,497.40
Non-Voting Shares	Buy	6-Feb	201	35.71	R\$ 7,177.71
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	217	35.73	R\$ 7,753.41
Non-Voting Shares	Buy	6-Feb	458	35.74	R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	143	35.75	R\$ 5,112.25
Non-Voting Shares	Buy	6-Feb	694	35.78	R\$ 24,831.32
Non-Voting Shares	Buy	6-Feb	41	35.79	R\$ 1,467.39

N	5	۵ = ۱	0.0	05.04	D# 0 000 40
Non-Voting Shares	Buy	6-Feb	82	35.81	R\$ 2,936.42
Non-Voting Shares	Buy	6-Feb	514	35.14	R\$ 18,061.96
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	532	35.16	R\$ 18,705.12
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
<u> </u>	•				
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	10	35.32	R\$ 353.20
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
<u> </u>	•	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy				R\$ 35.47
Non-Voting Shares	Buy	6-Feb	1	35.47	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06
Non-Voting Shares	Buy	6-Feb	23	35.55	R\$ 817.65
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Tion voing onales	Биу	0-1 60	100	55.05	1 (ψ 4,012.73

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
•	_	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	182		· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy			35.70	R\$ 6,497.40
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	175	35.72	R\$ 6,251.00
Non-Voting Shares	Buy	6-Feb	218	35.73	R\$ 7,789.14
Non-Voting Shares	Buy	6-Feb	458	35.74	R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	141	35.75	R\$ 5,040.75
Non-Voting Shares	Buy	6-Feb	695	35.78	R\$ 24,867.10
Non-Voting Shares	Buy	6-Feb	41	35.79	R\$ 1,467.39
Non-Voting Shares	Buy	6-Feb	82	35.81	R\$ 2,936.42
Non-Voting Shares	Buy	6-Feb	513	35.14	R\$ 18,026.82
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	532	35.16	R\$ 18,705.12
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	578	35.19	R\$ 20,339.82
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
rton voing onares	Бау	0.1.00	100	00.00	1 (φ 1,7 02.00

Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
•					·
Non-Voting Shares	Buy	6-Feb	37 75	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
Non-Voting Shares	Buy	6-Feb	281	35.57	R\$ 9,995.17
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
<u>~</u>	-	6-Feb	135	35.65	
Non-Voting Shares	Buy				R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	908	35.67	R\$ 32,388.36
Non-Voting Shares	Buy	6-Feb	467	35.68	R\$ 16,662.56
Non-Voting Shares	Buy	6-Feb	733	35.69	R\$ 26,160.77
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	175	35.72	R\$ 6,251.00
Non-Voting Shares	Buy	6-Feb	216	35.73	R\$ 7,717.68
Non-Voting Shares	Buy	6-Feb	458	35.74	R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	142	35.75	R\$ 5,076.50
Non-Voting Shares	Buy	6-Feb	694	35.78	R\$ 24,831.32
Non-Voting Shares	Buy	6-Feb	39	35.79	R\$ 1,395.81
Non-Voting Shares	Buy	6-Feb	86	35.81	R\$ 3,079.66
Non-Voting Shares	Buy	6-Feb	513	35.14	R\$ 18,026.82
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	-	6-Feb	576	35.19	R\$ 20,269.44
<u>~</u>	Buy				
Non-Voting Shares	Buy	6-Feb	150	35.20	R\$ 5,280.00
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	77	35.44	R\$ 2,728.88
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
311 1 2 111 1 3	= 37	5 . 65	0	20.00	

	_	_ _ .			
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	732	35.69	R\$ 26,125.08
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	216	35.73	R\$ 7,717.68
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
Non-Voting Shares	Buy	6-Feb	143	35.75	R\$ 5,112.25
Non-Voting Shares	Buy	6-Feb	693	35.78	R\$ 24,795.54
Non-Voting Shares	Buy	6-Feb	39	35.79	R\$ 1,395.81
Non-Voting Shares	Buy	6-Feb	86	35.81	R\$ 3,079.66
Non-Voting Shares	Buy	6-Feb	513	35.14	R\$ 18,026.82
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	151	35.20	R\$ 5,315.20
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	11	35.32	R\$ 388.52
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	-	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy				
<u> </u>	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9 76	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76 12	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	911	35.67	R\$ 32,495.37
Non-Voting Shares	Buy	6-Feb	465	35.68	R\$ 16,591.20
Non-Voting Shares	Buy	6-Feb	732	35.69	R\$ 26,125.08
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	200	35.71	R\$ 7,142.00
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	219	35.73	R\$ 7,824.87
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
Non-Voting Shares	Buy	6-Feb	141	35.75	R\$ 5,040.75
Non-Voting Shares	Buy	6-Feb	697	35.78	R\$ 24,938.66
Non-Voting Shares	Buy	6-Feb	41	35.79	R\$ 1,467.39
Non-Voting Shares	Buy	6-Feb	82	35.81	R\$ 2,936.42
Non-Voting Shares	Buy	6-Feb	512	35.14	R\$ 17,991.68
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	236	35.17	R\$ 8,300.12

Nam Vation Observa	D	0 5-1-	0	05.40	D# 004 44
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	150	35.20	R\$ 5,280.00
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	-	6-Feb	19	35.34	R\$ 671.46
•	Buy				
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	119	35.58	R\$ 4,234.02
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
_	-	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	732	35.69	R\$ 26,125.08
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70

Edgar Filing: BANK BRADESCO - Form 6-K

Nam Vation Observa	D	۵ ۵ - ۱-	004	05.74	D# 7.004.04
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	216	35.73	R\$ 7,717.68
Non-Voting Shares	Buy	6-Feb	457	35.74	R\$ 16,333.18
Non-Voting Shares	Buy	6-Feb	143	35.75	R\$ 5,112.25
Non-Voting Shares	Buy	6-Feb	693	35.78	R\$ 24,795.54
Non-Voting Shares	Buy	6-Feb	39	35.79	R\$ 1,395.81
Non-Voting Shares	Buy	6-Feb	86	35.81	R\$ 3,079.66
Non-Voting Shares	Buy	6-Feb	513	35.14	R\$ 18,026.82
Non-Voting Shares	Buy	6-Feb	325	35.15	R\$ 11,423.75
Non-Voting Shares	Buy	6-Feb	533	35.16	R\$ 18,740.28
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	8	35.18	R\$ 281.44
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	119	35.22	R\$ 4,191.18
Non-Voting Shares	Buy	6-Feb	220	35.23	R\$ 7,750.60
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
. to touring orial oo	Bay	3 1 65		55.11	1 (φ 7 10.01

N. M. C.	Б	0.5.1	•	05.40	D# 040 07
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
<u> </u>	•				
Non-Voting Shares	Buy	6-Feb	281	35.57	R\$ 9,995.17
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	908	35.67	R\$ 32,388.36
Non-Voting Shares	Buy	6-Feb	467	35.68	R\$ 16,662.56
Non-Voting Shares	Buy	6-Feb	733	35.69	R\$ 26,160.77
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	202	35.71	R\$ 7,213.42
Non-Voting Shares	Buy	6-Feb	175	35.72	R\$ 6,251.00
Non-Voting Shares	Buy	6-Feb	216	35.72	R\$ 7,717.68
<u> </u>		6-Feb	458	35.74	
Non-Voting Shares	Buy				R\$ 16,368.92
Non-Voting Shares	Buy	6-Feb	142	35.75	R\$ 5,076.50
Non-Voting Shares	Buy	6-Feb	694	35.78	R\$ 24,831.32
Non-Voting Shares	Buy	6-Feb	39	35.79	R\$ 1,395.81
Non-Voting Shares	Buy	6-Feb	86	35.81	R\$ 3,079.66
Non-Voting Shares	Buy	6-Feb	1	35.14	R\$ 35.14
Non-Voting Shares	Buy	6-Feb	424	35.16	R\$ 14,907.84
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	116	35.22	R\$ 4,085.52
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
112 129 2α.30	zay	0.00		50.20	φ .,σ=σ.σ ι

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	113	35.53	R\$ 4,014.89
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98

N	Б.	0.5.1	0.40	05.07	D# 00 500 74
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	462	35.68	R\$ 16,484.16
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	174	35.72	R\$ 6,215.28
Non-Voting Shares	Buy	6-Feb	157	35.73	R\$ 5,609.61
Non-Voting Shares	Buy	6-Feb	111	35.74	R\$ 3,967.14
Non-Voting Shares	Buy	6-Feb	84	35.75	R\$ 3,003.00
Non-Voting Shares	Buy	6-Feb	22	35.78	R\$ 787.16
Non-Voting Shares	Buy	6-Feb	427	35.16	R\$ 15,013.32
Non-Voting Shares	Buy	6-Feb	234	35.17	R\$ 8,229.78
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	575	35.19	R\$ 20,234.25
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	-	6-Feb	133	35.21	R\$ 4,682.93
•	Buy				
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	•				
•	Buy	6-Feb	74 5	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	276	35.57	R\$ 9,817.32
Non-Voting Shares	Buy	6-Feb	123	35.58	R\$ 4,376.34

Edgar Filing: BANK BRADESCO - Form 6-K

	_				
Non-Voting Shares	Buy	6-Feb	312	35.59	R\$ 11,104.08
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	244	35.63	R\$ 8,693.72
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	464	35.68	R\$ 16,555.52
Non-Voting Shares	Buy	6-Feb	731	35.69	R\$ 26,089.39
Non-Voting Shares	Buy	6-Feb	183	35.70	R\$ 6,533.10
Non-Voting Shares	Buy	6-Feb	200	35.71	R\$ 7,142.00
Non-Voting Shares	Buy	6-Feb	176	35.72	R\$ 6,286.72
Non-Voting Shares	Buy	6-Feb	158	35.73	R\$ 5,645.34
Non-Voting Shares	Buy	6-Feb	112	35.74	R\$ 4,002.88
Non-Voting Shares	Buy	6-Feb	84	35.75	R\$ 3,003.00
Non-Voting Shares	Buy	6-Feb	24	35.78	R\$ 858.72
Non-Voting Shares	Buy	6-Feb	425	35.16	R\$ 14,943.00
Non-Voting Shares	Buy	6-Feb	234	35.17	R\$ 8,229.78
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
9	,				. ,

Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	20	35.34	R\$ 706.80
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	•	6-Feb	76	35.44	R\$ 2,693.44
<u> </u>	Buy	6-Feb	13	35.44	R\$ 460.85
Non-Voting Shares	Buy				•
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
_	•	6-Feb	42	35.64	
Non-Voting Shares	Buy				R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	465	35.68	R\$ 16,591.20
Non-Voting Shares	Buy	6-Feb	733	35.69	R\$ 26,160.77
Non-Voting Shares	Buy	6-Feb	180	35.70	R\$ 6,426.00
Non-Voting Shares	Buy	6-Feb	205	35.71	R\$ 7,320.55
Non-Voting Shares	Buy	6-Feb	173	35.72	R\$ 6,179.56
Non-Voting Shares	Buy	6-Feb	157	35.73	R\$ 5,609.61
Non-Voting Shares	Buy	6-Feb	112	35.74	R\$ 4,002.88
Non-Voting Shares	Buy	6-Feb	81	35.75	R\$ 2,895.75
Non-Voting Shares	Buy	6-Feb	23	35.78	R\$ 822.94
Non-Voting Shares	Buy	6-Feb	1	35.14	R\$ 35.14
Non-Voting Shares	Buy	6-Feb	424	35.16	R\$ 14,907.84
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Tion voing onaics	Buy	0160	100	00.21	1 (φ +,002.00

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Dung	6-Feb	116	35.22	R\$ 4,085.52
Non-Voting Shares	Buy Buy	6-Feb	222	35.22	R\$ 7,821.06
Non-Voting Shares		6-Feb	194	35.25	R\$ 6,838.50
•	Buy				· ·
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	113	35.53	R\$ 4,014.89
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Table voling offaces	Бау	0-1 60	515	55.59	1 (ψ 11,210.03

Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	48	35.62	R\$ 1,709.76
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	462	35.68	R\$ 16,484.16
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	174	35.72	R\$ 6,215.28
Non-Voting Shares	Buy	6-Feb	157	35.73	R\$ 5,609.61
•	Buy	6-Feb	111	35.74	R\$ 3,967.14
Non-Voting Shares	-				
Non-Voting Shares	Buy	6-Feb	84	35.75	R\$ 3,003.00
Non-Voting Shares	Buy	6-Feb	22	35.78	R\$ 787.16
Non-Voting Shares	Buy	6-Feb	425	35.16	R\$ 14,943.00
Non-Voting Shares	Buy	6-Feb	234	35.17	R\$ 8,229.78
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	20	35.34	R\$ 706.80
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
•	•				
Non-Voting Shares	Buy	6-Feb	1 74	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74 5	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37

Edgar Filing: BANK BRADESCO - Form 6-K

N. M. C.	5	0.5.1	50	05.50	D# 0.005.00
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	215	35.60	R\$ 7,654.00
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	465	35.68	R\$ 16,591.20
Non-Voting Shares	Buy	6-Feb	733	35.69	R\$ 26,160.77
Non-Voting Shares	Buy	6-Feb	180	35.70	R\$ 6,426.00
Non-Voting Shares	Buy	6-Feb	205	35.71	R\$ 7,320.55
Non-Voting Shares	Buy	6-Feb	174	35.72	R\$ 6,215.28
Non-Voting Shares	Buy	6-Feb	155	35.73	R\$ 5,538.15
Non-Voting Shares	Buy	6-Feb	113	35.74	R\$ 4,038.62
Non-Voting Shares	Buy	6-Feb	81	35.75	R\$ 2,895.75
Non-Voting Shares	Buy	6-Feb	23	35.78	R\$ 822.94
Non-Voting Shares	Buy	6-Feb	1	35.14	R\$ 35.14
Non-Voting Shares	Buy	6-Feb	424	35.16	R\$ 14,907.84
Non-Voting Shares	Buy	6-Feb	235	35.17	R\$ 8,264.95
Non-Voting Shares	Buy	6-Feb	9	35.18	R\$ 316.62
Non-Voting Shares	Buy	6-Feb	576	35.19	R\$ 20,269.44
Non-Voting Shares	Buy	6-Feb	149	35.20	R\$ 5,244.80
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	116	35.22	R\$ 4,085.52
13.1.15	23,	3.00			,

	_	. = .			54 - 664 66
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
<u> </u>	•				
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	113	35.53	R\$ 4,014.89
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
_		6-Feb	216	35.60	
Non-Voting Shares	Buy				R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	48	35.62	R\$ 1,709.76
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	462	35.68	R\$ 16,484.16
Non-Voting Shares	Buy	6-Feb	734	35.69	R\$ 26,196.46
Non-Voting Shares	Buy	6-Feb	181	35.70	R\$ 6,461.70
Non-Voting Shares	Buy	6-Feb	204	35.71	R\$ 7,284.84
Non-Voting Shares	Buy	6-Feb	174	35.72	R\$ 6,215.28
Non-Voting Shares	Buy	6-Feb	157	35.73	R\$ 5,609.61
Non-Voting Shares	Buy	6-Feb	111	35.74	R\$ 3,967.14
Non-Voting Shares	Buy	6-Feb	84	35.75	R\$ 3,003.00
	= 3 y	2.30		· · · -	-+ -,500.00

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	22	35.78	R\$ 787.16
Non-Voting Shares	Buy	6-Feb	508	35.19	R\$ 17,876.52
Non-Voting Shares	Buy	6-Feb	150	35.20	R\$ 5,280.00
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	130	35.38	R\$ 4,599.40
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	11	35.45	R\$ 389.95
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	116	35.53	R\$ 4,121.48
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36

N	5	0.5.1	004	05.53	D# 0 005 47
Non-Voting Shares	Buy	6-Feb	281	35.57	R\$ 9,995.17
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	134	35.65	R\$ 4,777.10
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	907	35.67	R\$ 32,352.69
Non-Voting Shares	Buy	6-Feb	465	35.68	R\$ 16,591.20
Non-Voting Shares	Buy	6-Feb	135	35.69	R\$ 4,818.15
Non-Voting Shares	Buy	6-Feb	70	35.70	R\$ 2,499.00
•	•			35.70	
Non-Voting Shares	Buy	6-Feb	59		R\$ 2,106.89
Non-Voting Shares	Buy	6-Feb	109	35.72	R\$ 3,893.48
Non-Voting Shares	Buy	6-Feb	67	35.73	R\$ 2,393.91
Non-Voting Shares	Buy	6-Feb	22	35.74	R\$ 786.28
Non-Voting Shares	Buy	6-Feb	14	35.75	R\$ 500.50
Non-Voting Shares	Buy	6-Feb	508	35.19	R\$ 17,876.52
Non-Voting Shares	Buy	6-Feb	151	35.20	R\$ 5,315.20
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
_					
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	116	35.53	R\$ 4,121.48
•	•				•

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares Buy 6-Feb 81 35.56 R\$ 2,8 Non-Voting Shares Buy 6-Feb 281 35.57 R\$ 9,9 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,2 Non-Voting Shares Buy 6-Feb 316 35.59 R\$ 11,2 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,6 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	95.17 69.60 46.44 89.60 63.45 74.14
Non-Voting Shares Buy 6-Feb 281 35.57 R\$ 9,9 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,2 Non-Voting Shares Buy 6-Feb 316 35.59 R\$ 11,2 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,6 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	95.17 69.60 46.44 89.60 63.45 74.14
Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,2 Non-Voting Shares Buy 6-Feb 316 35.59 R\$ 11,2 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,6 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	69.60 46.44 89.60 63.45 74.14
Non-Voting Shares Buy 6-Feb 316 35.59 R\$ 11,2 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,6 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	46.44 89.60 63.45 74.14
Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,6 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	89.60 63.45 74.14
Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,1 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	63.45 74.14
Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,6 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	74.14
Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,8	
• • • • • • • • • • • • • • • • • • • •	
	00.61
Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,5	32.52
Non-Voting Shares Buy 6-Feb 134 35.65 R\$ 4,7	77.10
Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,8	04.98
Non-Voting Shares Buy 6-Feb 907 35.67 R\$ 32,3	52.69
Non-Voting Shares Buy 6-Feb 465 35.68 R\$ 16,5	91.20
Non-Voting Shares Buy 6-Feb 135 35.69 R\$ 4,8	18.15
Non-Voting Shares Buy 6-Feb 70 35.70 R\$ 2,4	99.00
Non-Voting Shares Buy 6-Feb 59 35.71 R\$ 2,1	06.89
Non-Voting Shares Buy 6-Feb 109 35.72 R\$ 3,8	93.48
Non-Voting Shares Buy 6-Feb 67 35.73 R\$ 2,3	93.91
Non-Voting Shares Buy 6-Feb 22 35.74 R\$ 7	86.28
	00.50
Non-Voting Shares Buy 6-Feb 510 35.19 R\$ 17,9	46.90
Non-Voting Shares Buy 6-Feb 150 35.20 R\$ 5,2	80.00
Non-Voting Shares Buy 6-Feb 132 35.21 R\$ 4,6	47.72
Non-Voting Shares Buy 6-Feb 117 35.22 R\$ 4,1	20.74
Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,7	85.83
Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,8	38.50
Non-Voting Shares Buy 6-Feb 259 35.26 R\$ 9,1	32.34
Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 9	52.29
Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,3	16.32
Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,6	
Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,5	

N	5	0.5.1	0.0	05.04	D# 0.004.00
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
	•	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	116	35.53	R\$ 4,121.48
Non-Voting Shares	Buy	6-Feb	184	35.54	R\$ 6,539.36
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	124	35.58	R\$ 4,411.92
Non-Voting Shares	Buy	6-Feb	317	35.59	R\$ 11,282.03
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	•	6-Feb	146	35.61	R\$ 5,199.06
<u> </u>	Buy				
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	912	35.67	R\$ 32,531.04
Non-Voting Shares	Buy	6-Feb	464	35.68	R\$ 16,555.52
Non-Voting Shares	Buy	6-Feb	137	35.69	R\$ 4,889.53
Non-Voting Shares	Buy	6-Feb	68	35.70	R\$ 2,427.60
Non-Voting Shares	Buy	6-Feb	62	35.71	R\$ 2,214.02
Non-Voting Shares	Buy	6-Feb	105	35.72	R\$ 3,750.60
Non-Voting Shares	Buy	6-Feb	65	35.73	R\$ 2,322.45
Non-Voting Shares	Buy	6-Feb	22	35.74	R\$ 786.28
Non-Voting Shares	Buy	6-Feb	15	35.75	R\$ 536.25
Non-Voting Shares	Buy	6-Feb	509	35.19	R\$ 17,911.71
Non-Voting Shares	Buy	6-Feb	151	35.20	R\$ 5,315.20
Non-Voting Shares	Buy	6-Feb	131	35.21	R\$ 4,612.51
<u> </u>	•	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy		222		
Non-Voting Shares	Buy	6-Feb		35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	45	35.29	R\$ 1,588.05
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	116	35.53	R\$ 4,121.48
Non-Voting Shares	Buy	6-Feb	184	35.54	R\$ 6,539.36
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	279	35.57	R\$ 9,924.03
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45

Non-Voting Shares	Buy	6-Feb	301	35.66	R\$ 10,733.66
Non-Voting Shares	Buy	6-Feb	913	35.67	R\$ 32,566.71
Non-Voting Shares	Buy	6-Feb	463	35.68	R\$ 16,519.84
Non-Voting Shares	Buy	6-Feb	138	35.69	R\$ 4,925.22
Non-Voting Shares	Buy	6-Feb	70	35.70	R\$ 2,499.00
Non-Voting Shares	Buy	6-Feb	62	35.71	R\$ 2,214.02
Non-Voting Shares	Buy	6-Feb	105	35.72	R\$ 3,750.60
Non-Voting Shares	Buy	6-Feb	65	35.73	R\$ 2,322.45
Non-Voting Shares	Buy	6-Feb	22	35.74	R\$ 786.28
Non-Voting Shares	Buy	6-Feb	15	35.75	R\$ 536.25
Non-Voting Shares	Buy	6-Feb	58	35.22	R\$ 2,042.76
_		6-Feb		35.23	
Non-Voting Shares	Buy		221		R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
_		6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy				•
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	Buy	6-Feb	192	35.54	R\$ 6,823.68
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	114	35.58	R\$ 4,056.12
Non-Voting Shares	Buy	6-Feb	318	35.59	R\$ 11,317.62
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	144	35.61	R\$ 5,127.84
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	249	35.63	R\$ 8,871.87
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
	- July	2 : 0.0			+ -,

Edgar Filing: BANK BRADESCO - Form 6-K

Nam Matina Olas nasa	D	0.5-1-	405	05.05	D# 4.040.75
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	225	35.67	R\$ 8,025.75
Non-Voting Shares	Buy	6-Feb	90	35.68	R\$ 3,211.20
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	Buy	6-Feb	40	35.70	R\$ 1,428.00
Non-Voting Shares	Buy	6-Feb	27	35.71	R\$ 964.17
Non-Voting Shares	Buy	6-Feb	11	35.72	R\$ 392.92
Non-Voting Shares	Buy	6-Feb	1	35.73	R\$ 35.73
Non-Voting Shares	Buy	6-Feb	58	35.22	R\$ 2,042.76
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
. to totang endroo	Bay	3 1 05	•	55.10	1 (φ 1 11.00

N	5	0.5.1	400	05.50	DA 0 000 F0
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	Buy	6-Feb	192	35.54	R\$ 6,823.68
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	114	35.58	R\$ 4,056.12
Non-Voting Shares	Buy	6-Feb	318	35.59	R\$ 11,317.62
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	144	35.61	R\$ 5,127.84
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	249	35.63	R\$ 8,871.87
<u> </u>	•	6-Feb	41		
Non-Voting Shares	Buy			35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	225	35.67	R\$ 8,025.75
Non-Voting Shares	Buy	6-Feb	90	35.68	R\$ 3,211.20
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	Buy	6-Feb	40	35.70	R\$ 1,428.00
Non-Voting Shares	Buy	6-Feb	27	35.71	R\$ 964.17
Non-Voting Shares	Buy	6-Feb	11	35.72	R\$ 392.92
Non-Voting Shares	Buy	6-Feb	1	35.73	R\$ 35.73
Non-Voting Shares	Buy	6-Feb	59	35.22	R\$ 2,077.98
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
		6-Feb	24	35.32	R\$ 847.92
Non-Voting Shares Non-Voting Shares	Buy	6-Feb	18	35.34	
<u> </u>	Buy				R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
-	•				•

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Dun	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares		6-Feb	114	35.52	R\$ 4,050.42
•	Buy				
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	125	35.58	R\$ 4,447.50
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	243	35.63	R\$ 8,658.09
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	138	35.65	R\$ 4,919.70
Non-Voting Shares	Buy	6-Feb	301	35.66	R\$ 10,733.66
Non-Voting Shares	Buy	6-Feb	227	35.67	R\$ 8,097.09
Non-Voting Shares	Buy	6-Feb	89	35.68	R\$ 3,175.52
Non-Voting Shares	Buy	6-Feb	42	35.69	R\$ 1,498.98
Non-Voting Shares	Buy	6-Feb	41	35.70	R\$ 1,463.70
Non-Voting Shares	Buy	6-Feb	26	35.71	R\$ 928.46
Non-Voting Shares	Buy	6-Feb	12	35.72	R\$ 428.64
Non-Voting Shares	Buy	6-Feb	1	35.73	R\$ 35.73
Non-Voting Shares	Buy	6-Feb	57	35.20	R\$ 2,006.40
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	28	35.27	R\$ 987.56
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-voling snales	Биу	0-1-60	80	33.31	1 τφ 2,024.00

N	5	۵ = ۱	4.0	05.00	D# 450 40
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
•	•				
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	277	35.57	R\$ 9,852.89
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	312	35.59	R\$ 11,104.08
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	244	35.63	R\$ 8,693.72
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	562	35.67	R\$ 20,046.54
•		6-Feb	89	35.68	· ·
Non-Voting Shares	Buy	6-Feb	59		R\$ 3,175.52
Non-Voting Shares	Buy			35.69	R\$ 2,105.71
Non-Voting Shares	Buy	6-Feb	69	35.70	R\$ 2,463.30
Non-Voting Shares	Buy	6-Feb	26	35.71	R\$ 928.46
Non-Voting Shares	Buy	6-Feb	31	35.72	R\$ 1,107.32
Non-Voting Shares	Buy	6-Feb	14	35.73	R\$ 500.22
Non-Voting Shares	Buy	6-Feb	1	35.23	R\$ 35.23
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
3 = == 20					,

Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	185	35.54	R\$ 6,574.90
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	280	35.57	R\$ 9,959.60
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	312	35.59	R\$ 11,104.08
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	132	35.65	R\$ 4,705.80
Non-Voting Shares	Buy	6-Feb	184	35.66	R\$ 6,561.44
Non-Voting Shares	Buy	6-Feb	2	35.67	R\$ 71.34
Non-Voting Shares	Buy	6-Feb	71	35.68	R\$ 2,533.28
Non-Voting Shares	Buy	6-Feb	45	35.69	R\$ 1,606.05
Non-Voting Shares	Buy	6-Feb	3	35.70	R\$ 107.10
Non-Voting Shares	Buy	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	•	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
•	•	6-Feb		35.32	R\$ 847.92
Non-Voting Shares	Buy		24		
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75 10	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30

Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	194	35.63	R\$ 6,912.22
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
•	•	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy				•
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	194	35.63	R\$ 6,912.22
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	91	35.28	R\$ 3,210.48
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
2.2 9 2.1.5.	= -7	2 : 3.0	. •		+ ,====

Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	79	35.31	R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	23	35.55	R\$ 817.65
Non-Voting Shares	Buy	6-Feb	86	35.56	R\$ 3,058.16
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	313	35.59	R\$ 11,139.67
Non-Voting Shares	Buy	6-Feb	83	35.60	R\$ 2,954.80
Non-Voting Shares	Buy	6-Feb	63	35.61	R\$ 2,243.43
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	81	35.63	R\$ 2,886.03
Non-Voting Shares	Buy	6-Feb	18	35.64	R\$ 641.52
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	•	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
•	•	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96

	_				
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
•			47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb			
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	5	35.39	R\$ 176.95
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	•	6-Feb	109	35.50	R\$ 3,869.50
	Buy				
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35

Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	193	35.63	R\$ 6,876.59
Non-Voting Shares	Buy	6-Feb	45	35.64	R\$ 1,603.80
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	56	35.28	R\$ 1,975.68
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	•	6-Feb	1	35.16	R\$ 35.16
<u> </u>	Buy	6-Feb	58	35.10	
Non-Voting Shares	Buy		133	35.20	R\$ 2,041.60
Non-Voting Shares	Buy	6-Feb			R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	116	35.22 35.23	R\$ 4,085.52
Non-Voting Shares	Buy	6-Feb	222		R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	48	35.29	R\$ 1,693.92
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	11	35.32	R\$ 388.52

Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	116	35.58	R\$ 4,127.28
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	563	35.67	R\$ 20,082.21
Non-Voting Shares	Buy	6-Feb	89	35.68	R\$ 3,175.52
Non-Voting Shares	Buy	6-Feb	60	35.69	R\$ 2,141.40
_				35.70	
Non-Voting Shares	Buy	6-Feb	68		R\$ 2,427.60
Non-Voting Shares	Buy	6-Feb	26	35.71	R\$ 928.46
Non-Voting Shares	Buy	6-Feb	30	35.72	R\$ 1,071.60
Non-Voting Shares	Buy	6-Feb	13	35.73	R\$ 464.49
Non-Voting Shares	Buy	6-Feb	105	35.23	R\$ 35.23
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	48	35.29	R\$ 1,693.92
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50

N W C	Б	0.5.1	400	05.54	D# 0.07F.00
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	185	35.54	R\$ 6,574.90
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	280	35.57	R\$ 9,959.60
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	313	35.59	R\$ 11,139.67
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
•	•	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	132	35.65	R\$ 4,705.80
Non-Voting Shares	Buy	6-Feb	184	35.66	R\$ 6,561.44
Non-Voting Shares	Buy	6-Feb	_2	35.67	R\$ 71.34
Non-Voting Shares	Buy	6-Feb	71	35.68	R\$ 2,533.28
Non-Voting Shares	Buy	6-Feb	45	35.69	R\$ 1,606.05
Non-Voting Shares	Buy	6-Feb	3	35.70	R\$ 107.10
Non-Voting Shares	Buy	6-Feb	67	35.21	R\$ 2,359.07
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	6-Feb	25	35.33	R\$ 883.25
_	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
2 2 2 2	= 3 }	2.30			-+ -,500.00

Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	277	35.57	R\$ 9,852.89
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	312	35.59	R\$ 11,104.08
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	244	35.63	R\$ 8,693.72
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	303	35.66	R\$ 10,804.98
Non-Voting Shares	Buy	6-Feb	394	35.67	R\$ 14,053.98
Non-Voting Shares	Buy	6-Feb	90	35.68	R\$ 3,211.20
Non-Voting Shares	Buy	6-Feb	51	35.69	R\$ 1,820.19
Non-Voting Shares	Buy	6-Feb	55	35.70	R\$ 1,963.50
Non-Voting Shares	Buy	6-Feb	26	35.71	R\$ 928.46
Non-Voting Shares	Buy	6-Feb	24	35.72	R\$ 857.28
Non-Voting Shares	Buy	6-Feb	2	35.73	R\$ 71.46
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	•	6-Feb	4	35.49	R\$ 141.96
<u> </u>	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	
Non-Voting Shares	Buy				R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16

	_				
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
•		6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	194	35.63	R\$ 6,912.22
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	1	35.19	R\$ 35.19
Non-Voting Shares	Buy	6-Feb	108	35.22	R\$ 3,803.76
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	261	35.26	R\$ 9,202.86
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
_	-				
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	79	35.31	R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61

Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
•		6-Feb	26	35.55	
Non-Voting Shares	Buy				R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	117	35.58	R\$ 4,162.86
Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares	Buy	6-Feb	218	35.60	R\$ 7,760.80
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	247	35.63	R\$ 8,800.61
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	133	35.65	R\$ 4,741.45
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	294	35.67	R\$ 10,486.98
Non-Voting Shares	Buy	6-Feb	88	35.68	R\$ 3,139.84
Non-Voting Shares	Buy	6-Feb	45	35.69	R\$ 1,606.05
Non-Voting Shares	Buy	6-Feb	41	35.70	R\$ 1,463.70
Non-Voting Shares	Buy	6-Feb	27	35.71	R\$ 964.17
Non-Voting Shares	Buy	6-Feb	23	35.72	R\$ 821.56
Non-Voting Shares	Buy	6-Feb	3	35.73	R\$ 107.19
Non-Voting Shares	Buy	6-Feb	58	35.28	R\$ 2,046.24
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares		6-Feb	12	35.45	R\$ 425.40
•	Buy				
Non-Voting Shares	Buy	6-Feb	37 75	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	75 4	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	190	35.51	R\$ 6,746.90

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	55	35.52	R\$ 1,953.60
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	285	35.57	R\$ 10,137.45
Non-Voting Shares	Buy	6-Feb	117	35.58	R\$ 4,162.86
Non-Voting Shares	Buy	6-Feb	292	35.59	R\$ 10,392.28
Non-Voting Shares	Buy	6-Feb	70	35.60	R\$ 2,492.00
Non-Voting Shares	Buy	6-Feb	58	35.61	R\$ 2,065.38
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52

N	_	۵ = ۱		05.00	D# 4 005 00
Non-Voting Shares	Buy	6-Feb	56	35.63	R\$ 1,995.28
Non-Voting Shares	Buy	6-Feb	13	35.64	R\$ 463.32
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	22	35.41	R\$ 779.02
•	-	6-Feb	8	35.43	
Non-Voting Shares	Buy				R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	_1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	277	35.57	R\$ 9,852.89
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	299	35.59	R\$ 10,641.41
Non-Voting Shares	Buy	6-Feb	68	35.60	R\$ 2,420.80
Non-Voting Shares	Buy	6-Feb	56	35.61	R\$ 1,994.16
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
_			55		
Non-Voting Shares	Buy	6-Feb 6-Feb		35.63	R\$ 1,959.65
Non-Voting Shares	Buy		14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	174	35.26	R\$ 6,135.24
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
•	•				•

Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	123	35.58	R\$ 4,376.34
Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
Non-Voting Shares	Buy	6-Feb	216	35.60	R\$ 7,689.60
Non-Voting Shares	Buy	6-Feb	133	35.61	R\$ 4,736.13
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	197	35.63	R\$ 7,019.11
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	1	35.21	R\$ 35.21
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	•	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	19	35.41	R\$ 672.79
Non-Voting Shares	Buy Buy	6-Feb	9	35.43	R\$ 318.87
•	•	6-Feb	76	35.43	
Non-Voting Shares	Buy			35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13		R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	192	35.54	R\$ 6,823.68
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	116	35.58	R\$ 4,127.28
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24

Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	186	35.66	R\$ 6,632.76
Non-Voting Shares	Buy	6-Feb	2	35.67	R\$ 71.34
Non-Voting Shares	Buy	6-Feb	70	35.68	R\$ 2,497.60
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	Buy	6-Feb	1	35.70	R\$ 35.70
Non-Voting Shares	Buy	6-Feb	13	35.36	R\$ 459.68
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	10	35.43	R\$ 354.30
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
<u> </u>	•	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	111	35.53	R\$ 3,943.83
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	79	35.56	R\$ 2,809.24
Non-Voting Shares	Buy	6-Feb	114	35.57	R\$ 4,054.98
Non-Voting Shares	Buy	6-Feb	20	35.58	R\$ 711.60
Non-Voting Shares	Buy	6-Feb	10	35.59	R\$ 355.90
Non-Voting Shares	Buy	6-Feb	2	35.60	R\$ 71.20
Non-Voting Shares	Buy	6-Feb	176	35.26	R\$ 6,205.76
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares		6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	
	Buy	6-Feb			R\$ 141.56
Non-Voting Shares	Buy		21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9 75	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75 10	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47

Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	320	35.59	R\$ 11,388.80
Non-Voting Shares	Buy	6-Feb	218	35.60	R\$ 7,760.80
Non-Voting Shares	Buy	6-Feb	134	35.61	R\$ 4,771.74
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	195	35.63	R\$ 6,947.85
Non-Voting Shares	Buy	6-Feb	45	35.64	R\$ 1,603.80
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
_		6-Feb	13	35.44	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares Non-Voting Shares	Buy	6-Feb		35.46	R\$ 1,276.56
<u> </u>	Buy		1		R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	194	35.63	R\$ 6,912.22
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	175	35.26	R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80

Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	186	35.54	R\$ 6,610.44
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares		6-Feb	84	35.56	R\$ 2,987.04
_	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	121	35.58	R\$ 4,305.18
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	194	35.63	R\$ 6,912.22
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	68	35.21	R\$ 2,394.28
Non-Voting Shares	Buy	6-Feb	117	35.22	R\$ 4,120.74
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	79	35.31	R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
-	•				

Non-Voting Shares Buy 6-Feb 8 35.44 R\$ 283.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 14 35.48 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 74 35.48 R\$ 2,625.52 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 189 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 189 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 189 35.52 R\$ 1,889.12 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 3,058.16 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,24.30 Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,224.30 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,224.30 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,224.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,224.80 Non-Voting Shares Buy 6-Feb 36 35.86 R\$ 8,30.84 Non-Voting Shares Buy 6-Feb 36 35.86 R\$ 8,30.84 Non-Voting Shares Buy 6-Feb 36 35.22 R\$ 9,23.34 Non-Voting Shares Buy 6-Feb 39 35.22 R\$ 9,23.34 Non-Voting Shares Buy 6-Feb 39 35.22 R\$ 9,23.34 Non-Voting Shares Buy 6-Feb 34						
Non-Voting Shares Buy 6-Feb 13 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 1 35.48 R\$ 2,625,52 Non-Voting Shares Buy 6-Feb 1 35.49 R\$ 1,419.66 Non-Voting Shares Buy 6-Feb 1 38 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 1 38 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 1 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 1 35.52 R\$ 1,989.12 Non-Voting Shares Buy 6-Feb 1 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 1 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 1 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 2 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 2 36 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 2 36 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 2 36 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 2 36 35.56 R\$ 3,058.41 Non-Voting Shares Buy 6-Feb 2 36 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 2 36 35.56 R\$ 3,058.41 Non-Voting Shares Buy 6-Feb 2 36 35.56 R\$ 3,058.41 Non-Voting Shares Buy 6-Feb 2 36 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 2 36 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 2 36 35.61 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 2 45 35.61 R\$ 5,224.60 Non-Voting Shares Buy 6-Feb 2 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 2 45 35.63 R\$ 4,785.83 Non-Voting Shares Buy 6-Feb 2 45 35.63 R\$ 4,785.83 Non-Voting Shares Buy 6-Feb 3 56 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 3 57 R\$ 4,903.80 Non-Voting Shares Buy 6-Feb 3 57 R\$ 4,	Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 7 4 35.48 R\$ 2.625.52 Non-Voting Shares Buy 6-Feb 7 4 35.48 R\$ 2.625.52 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.93 R\$ 34.95 R	Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares Buy 6-Feb 74 35.47 R\$.35.47 Non-Voting Shares Buy 6-Feb 74 35.48 R\$.2,625.52 Non-Voting Shares Buy 6-Feb 74 35.48 R\$.2,625.52 Non-Voting Shares Buy 6-Feb 74 35.49 R\$.141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$.3,869.50 Non-Voting Shares Buy 6-Feb 189 35.51 R\$.4,869.50 Non-Voting Shares Buy 6-Feb 185 35.52 R\$.1,989.12 Non-Voting Shares Buy 6-Feb 185 35.54 R\$.4,500.42 Non-Voting Shares Buy 6-Feb 185 35.55 R\$.243.00 Non-Voting Shares Buy 6-Feb 86 35.56 R\$.924.30 Non-Voting Shares Buy 6-Feb 86 35.56 R\$.924.30 Non-Voting Shares Buy 6-Feb 86 35.57 R\$.9,888.46 Non-Voting Shares Buy 6-Feb 86 35.56 R\$.924.30 Non-Voting Shares Buy 6-Feb 120 35.58 R\$.4,269.60 Non-Voting Shares Buy 6-Feb 121 35.60 R\$.7,760.80 Non-Voting Shares Buy 6-Feb 147 35.61 R\$.7,260.80 Non-Voting Shares Buy 6-Feb 147 35.61 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 147 35.61 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 148 35.68 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 149 35.65 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 149 35.66 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 149 35.67 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 140 35.67 R\$.1,602.90 Non-Voting Shares Buy 6-Feb 143 35.60 R\$.7,608.00 Non-Voting Shares Buy 6-Feb 149 35.60 R\$.7,608.00 Non-Voting Shares Buy 6-Feb 140 35.67 R\$.1,602.90 Non-Voting Shares Buy 6-Fe	Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares Buy G-Feb 4 35.48 R\$ 2,625.52 Non-Voting Shares Buy G-Feb 109 35.51 R\$ 3,711.39 Non-Voting Shares Buy G-Feb 109 35.51 R\$ 6,711.39 Non-Voting Shares Buy G-Feb 56 35.52 R\$ 1,989.12 Non-Voting Shares Buy G-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy G-Feb 115 35.54 R\$ 6,771.30 Non-Voting Shares Buy G-Feb 26 35.55 R\$ 4,050.42 Non-Voting Shares Buy G-Feb 26 35.55 R\$ 9,243.30 Non-Voting Shares Buy G-Feb 26 35.55 R\$ 9,243.30 Non-Voting Shares Buy G-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy G-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 120 35.59 R\$ 11,139.67 Non-Voting Shares Buy G-Feb 120 35.56 R\$ 3,058.16 Non-Voting Shares Buy G-Feb 120 35.57 R\$ 9,888.46 Non-Voting Shares Buy G-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 133 35.59 R\$ 11,139.67 Non-Voting Shares Buy G-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy G-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy G-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy G-Feb 147 35.62 R\$ 1,602.90 Non-Voting Shares Buy G-Feb 145 35.62 R\$ 1,602.90 Non-Voting Shares Buy G-Feb 135 35.65 R\$ 1,803.98 Non-Voting Shares Buy G-Feb 135 35.66 R\$ 1,080.49 Non-Voting Shares Buy G-Feb 135 35.66 R\$ 1,080.49 Non-Voting Shares Buy G-Feb 135 35.66 R\$ 1,080.49 Non-Voting Shares Buy G-Feb 135 35.67 R\$ 14,303.67 R\$ 14,303.67 R\$ 14,303.67 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 135 35.63 R\$ 8,729.35 Non-Voting Shares Buy G-Feb 135 35.66 R\$ 1,080.49 Non-Voting Shares Buy G-Feb 135 35.66 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 135 35.61 R\$ 8,826.24 R\$ 1,080.49 Non-Voting Shares Buy G-Feb 135 35.69 R\$ 1,858.88 Non-Voting Shares Buy G-Feb 136 35.60 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 136 35.60 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 136 35.60 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 136 35.60 R\$ 3,166.60	Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares Buy 6-Feb 189 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 189 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 189 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 1,989.12 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,950.42 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,950.42 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 86 35.55 R\$ 9,288.46 Non-Voting Shares Buy 6-Feb 86 35.56 R\$ 3,058.16 Non-Voting Shares Buy 6-Feb 126 Non-Voting Shares Buy 6-Feb 127 Shares Buy 6-Feb 128 Sh.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 128 Sh.57 Non-Voting Shares Buy 6-Feb 147 Sh.60 Non-Voting Shares Buy 6-Feb 148 Sh.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 145 Sh.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 145 Sh.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 145 Sh.60 R\$ 7,80.80 Non-Voting Shares Buy 6-Feb 145 Sh.60 R\$ 1,802.90 Non-Voting Shares Buy 6-Feb 145 Sh.60 R\$ 1,802.90 Non-Voting Shares Buy 6-Feb 148 Sh.60 R\$ 1,803.60	Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares Buy 6-Feb 189 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 56 35.52 R\$ 1,999.12 Non-Voting Shares Buy 6-Feb 16-Feb 16-Feb 185 35.51 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 185 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 27 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 120 35.56 R\$ 3,058.16 Non-Voting Shares Buy 6-Feb 120 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 120 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 121 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 121 35.56 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 121 35.56 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 147 35.61 R\$ 1,568.16 R\$ 1,084.98 Non-Voting Shares Buy 6-Feb 135 35.66 R\$ 1,084.98 Non-Voting Shares Buy 6-Feb 135 35.66 R\$ 1,084.98 Non-Voting Shares Buy 6-Feb 135 35.66 R\$ 1,084.98 Non-Voting Shares Buy 6-Feb 135 35.67 R\$ 1,825.80 Non-Voting Shares Buy 6-Feb 135 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 135 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 135 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 135 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 135 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 135 35.73 R\$ 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 136 35.74 R\$ 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 136 35.22 R\$ 2,077.98 Non-Voting Shares Buy	Non-Voting Shares		6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares Buy 6-Feb 189 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 56 35.52 R\$ 1,999.12 Non-Voting Shares Buy 6-Feb 16-Feb 185 35.54 R\$ 6,711.39 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 8-Feb 115 35.54 R\$ 6,574.90 Non-Voting Shares Buy 8-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 8-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 8-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 8-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 8-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 8-Feb 210 35.58 R\$ 4,269.60 Non-Voting Shares Buy 8-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 8-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 8-Feb 218 35.61 R\$ 5,234.67 Non-Voting Shares Buy 8-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 8-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 8-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 8-Feb 401 35.67 R\$ 1,680.49 Non-Voting Shares Buy 8-Feb 401 35.67 R\$ 1,802.80 Non-Voting Shares Buy 8-Feb 401 35.67 R\$ 1,803.80 Non-Voting Shares Buy 8-Feb 403 35.60 R\$ 1,080.80 Non-Voting Shares Buy 8-Feb 403 403 408 Non-Voting Shares Buy 8-Feb 403 403 408 Non-Voting Shares Buy 8-Feb 404 405 407 407 407 407 407 407 407 407 407 407	Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares Buy 6-Feb 56 35.52 R\$ 1,989.12 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 417 35.61 R\$ 5,234.60 Non-Voting Shares Buy 6-Feb 417 35.61 R\$ 5,234.60 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 44 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 44 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 44 35.66 R\$ 1,080.40 Non-Voting Shares Buy 6-Feb 45 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 46 303 35.66 R\$ 1,080.49 Non-Voting Shares Buy 6-Feb 47 35.61 R\$ 4,303.67 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 403 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 403 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 403 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 403 403 403 404 404 405 406 406 406 406 406 406 406 406 406 406	Non-Voting Shares		6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares Buy G-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy G-Feb 1185 35.54 R\$ 6,574.90 Non-Voting Shares Buy G-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy G-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy G-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy G-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy G-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy G-Feb 313 35.59 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 313 35.59 R\$ 4,269.60 Non-Voting Shares Buy G-Feb 313 35.59 R\$ 1,139.67 Non-Voting Shares Buy G-Feb 313 35.59 R\$ 1,139.67 Non-Voting Shares Buy G-Feb 313 35.59 R\$ 1,293.67 Non-Voting Shares Buy G-Feb 45 35.61 R\$ 5,234.67 Non-Voting Shares Buy G-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy G-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy G-Feb 45 35.64 R\$ 1,568.16 Non-Voting Shares Buy G-Feb 45 35.66 R\$ 4,812.75 Non-Voting Shares Buy G-Feb 45 35.67 R\$ 4,4303.67 Non-Voting Shares Buy G-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy G-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy G-Feb 46 35.67 R\$ 14,303.67 R\$ 14,303.67 R\$ 14,303.67 R\$ 14,303.67 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy G-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy G-Feb 54 35.70 R\$ 35.72 R\$ 857.28 Non-Voting Shares Buy G-Feb 59 35.22 R\$ 2,077.93 Non-Voting Shares Buy G-Feb 59 35.23 R\$ 4,785.83 Non-Voting Shares Buy G-Feb 59 35.22 R\$ 2,077.93 Non-Voting S		· · · · · · · · · · · · · · · · · · ·	6-Feb	189	35.51	
Non-Voting Shares Buy 6-Feb 114 35.53 R\$ 4,050.42 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,883.46 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 121 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 145 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 145 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 145 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 135 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 135 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 80 35.68 R\$ 3,088.48 Non-Voting Shares Buy 6-Feb 27 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 27 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.73 R\$ 35.73 NS 964.17 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 27 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.73 R\$ 35.73 R\$ 35.73 NS 964.17 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 27 35.72 R\$ 95.22 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.73 R\$ 35.73 R\$ 35.73 NS 964.17 Non-Voting Shares Buy 6-Feb 27 35.73 R\$ 35.73 R\$ 35.73 R\$ 35.73 NS 964.17 Non-Voting Shares Buy 6-Feb 27 35.73 R\$ 35.73 R\$ 35.73 NS 964.17 Non-Voting Shares Buy 6-Feb 27 35.74 R\$ 964.17	<u> </u>					
Non-Voting Shares Buy 6-Feb 26 35.54 R\$ 6,574.90	<u> </u>					
Non-Voting Shares	<u> </u>					· ·
Non-Voting Shares Buy 6-Feb 278 35.56 R\$ 9,888.16 Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 313 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 45 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 1,080.498 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 1,080.498 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 1,403.67 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 1,403.67 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,858.80 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,858.80 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,858.80 Non-Voting Shares Buy 6-Feb 52 35.70 R\$ 1,852.80 Non-Voting Shares Buy 6-Feb 24 35.70 R\$ 1,852.80 Non-Voting Shares Buy 6-Feb 24 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 85.73 Non-Voting Shares Buy 6-Feb 24 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 85.73 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 85.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 85.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 3,763.34 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 95.22 R\$ 9.52.24 R\$ 9.52.34 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 3,763.34 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 3,763.34 Non-Voting Shares Buy 6-Feb 24 35	<u> </u>					
Non-Voting Shares Buy 6-Feb 278 35.57 R\$ 9,888.46 Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 218 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 33 35.65 R\$ 1,858.16 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 6,638.50 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 6,638.50 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 47 35.21 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 47 35.31 R\$ 2,834.80 Non-Voting Shares Buy 6-Feb 47 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 47 35.33 R\$ 47.92 Non-Voting Shares Buy 6	_	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 120 35.58 R\$ 4,269.60 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 303 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.70 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,857.80 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,857.80 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 260 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 43 35.32 R\$ 4,630.22 Non-Voting Shares Buy 6-Feb 43 35.33 R\$ 1,633.34 Non-Voting Shares Buy 6-Feb 43 35.33 R\$ 1,633.34 Non-Voting Shares Buy 6-Feb 43 35.34 R\$ 847.92 Non-Voting Shares Buy 6-Feb 43 35.34 R\$ 847.92 Non-Voting Shares Buy 6-Feb 43 35.34 R\$ 847.92 Non-Voting Shares Buy 6-	<u> </u>					
Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 218 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 1,803.084.98 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 857.28 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 46 35.39 R\$ 1,573.40 Non-Voting Shares Buy 6-Feb 46 35.30 R\$ 1,573.40 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,573.40 Non-Voting Shares Buy 6-Feb 47	<u> </u>					
Non-Voting Shares Buy 6-Feb 147 35.60 R\$ 7,760.80 Non-Voting Shares Buy 6-Feb 147 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,257.80 Non-Voting Shares Buy 6-Feb 52 35.71 R\$ 1,257.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 2,277.98 </td <td><u> </u></td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	<u> </u>	-				
Non-Voting Shares Buy 6-Feb 45 35.61 R\$ 5,234.67 Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90 Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 303 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 401 35.66 R\$ 1,803.68 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 1,430.67 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17	<u> </u>					
Non-Voting Shares Buy 6-Feb 45 35.62 R\$ 1,602.90	_	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 245 35.63 R\$ 8,729.35 Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 52 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 357.28 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 <	•					
Non-Voting Shares Buy 6-Feb 44 35.64 R\$ 1,568.16 Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83	<u> </u>					
Non-Voting Shares Buy 6-Feb 135 35.65 R\$ 4,812.75 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 24 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60	<u> </u>					
Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 49 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 21 35.22 R\$ 6,838.50	<u> </u>					
Non-Voting Shares Buy 6-Feb 401 35.67 R\$ 14,303.67 Non-Voting Shares Buy 6-Feb 86 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.80 Non-Voting Shares Buy 6-Feb 291 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 221 35.22 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 9,167.60 <tr< td=""><td>_</td><td>_</td><td></td><td></td><td></td><td></td></tr<>	_	_				
Non-Voting Shares Buy 6-Feb 52 35.68 R\$ 3,068.48 Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 9 35.28 R\$ 3,316.32	<u> </u>					
Non-Voting Shares Buy 6-Feb 52 35.69 R\$ 1,855.88 Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 221 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32	<u> </u>					
Non-Voting Shares Buy 6-Feb 54 35.70 R\$ 1,927.80 Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 2,824.80	<u> </u>	-				
Non-Voting Shares Buy 6-Feb 27 35.71 R\$ 964.17 Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	<u> </u>					
Non-Voting Shares Buy 6-Feb 24 35.72 R\$ 857.28 Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	_	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 1 35.73 R\$ 35.73 Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 47.782.4		· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 59 35.22 R\$ 2,077.98 Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12	•	_				
Non-Voting Shares Buy 6-Feb 221 35.23 R\$ 7,785.83 Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33	<u> </u>	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 194 35.25 R\$ 6,838.50 Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 9 35.38 R\$ 4,564.02	<u> </u>	_				
Non-Voting Shares Buy 6-Feb 260 35.26 R\$ 9,167.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 4,564.02		•				
Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 47.91 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20	_	-				
Non-Voting Shares Buy 6-Feb 94 35.28 R\$ 3,316.32 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 9 35.41 R\$ 708.20	<u> </u>					
Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 <t< td=""><td></td><td>-</td><td></td><td></td><td></td><td></td></t<>		-				
Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	•	-				• •
Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44		· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	<u> </u>					• •
Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44						
Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	•	-				
Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	<u> </u>	-				·
Non-Voting Shares Buy 6-Feb 9 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	<u> </u>	Buy				
Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	Non-Voting Shares		6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	Non-Voting Shares	Buy				
Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44	Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
· · · · · · · · · · · · · · · · · · ·	Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85	Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
	Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	114	35.53	R\$ 4,050.42
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20

	_	. = .			54.5.45.66
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	125	35.58	R\$ 4,447.50
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	146	35.61	R\$ 5,199.06
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	243	35.63	R\$ 8,658.09
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	138	35.65	R\$ 4,919.70
Non-Voting Shares	Buy	6-Feb	301	35.66	R\$ 10,733.66
Non-Voting Shares	Buy	6-Feb	227	35.67	R\$ 8,097.09
Non-Voting Shares	Buy	6-Feb	89	35.68	R\$ 3,175.52
Non-Voting Shares	Buy	6-Feb	42	35.69	R\$ 1,498.98
Non-Voting Shares	Buy	6-Feb	41	35.70	R\$ 1,463.70
Non-Voting Shares	-	6-Feb	26	35.70	R\$ 928.46
<u> </u>	Buy				
Non-Voting Shares	Buy	6-Feb	12	35.72	R\$ 428.64
Non-Voting Shares	Buy	6-Feb	1	35.73	R\$ 35.73
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	97	35.28	R\$ 3,422.16
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	79	35.31	R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.47 35.48	R\$ 2,661.00
<u> </u>	-	6-Feb			
Non-Voting Shares	Buy		4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	184	35.54	R\$ 6,539.36
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	273	35.57	R\$ 9,710.61
Non-Voting Shares	Buy	6-Feb	124	35.58	R\$ 4,411.92

Non-Voting Shares	Buy	6-Feb	317	35.59	R\$ 11,282.03
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	246	35.63	R\$ 8,764.98
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	184	35.66	R\$ 6,561.44
Non-Voting Shares	Buy	6-Feb	1	35.67	R\$ 35.67
Non-Voting Shares	Buy	6-Feb	73	35.68	R\$ 2,604.64
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	Buy	6-Feb	1	35.21	R\$ 35.21
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	19	35.41	R\$ 672.79
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	•	6-Feb	192	35.54	R\$ 6,823.68
9	Buy		24	35.55	
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 853.20
Non-Voting Shares	Buy	6-Feb			R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	116	35.58	R\$ 4,127.28
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	186	35.66	R\$ 6,632.76

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	2	35.67	R\$ 71.34
Non-Voting Shares	Buy	6-Feb	70	35.68	R\$ 2,497.60
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	Buy	6-Feb	1	35.70	R\$ 35.70
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59

Name Watter of Oleans	D	0 5-1-	40	05.04	D# 074 40
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
-	_	6-Feb	56	35.52	
Non-Voting Shares	Buy				R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	58	35.20	R\$ 2,041.60
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	118	35.22	R\$ 4,155.96
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	28	35.27	R\$ 987.56
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	-	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	
•	Buy				R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	130	35.38	R\$ 4,599.40
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44

Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	114	35.53	R\$ 4,050.42
Non-Voting Shares	Buy	6-Feb	185	35.54	R\$ 6,574.90
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
Non-Voting Shares	Buy	6-Feb	275	35.57	R\$ 9,781.75
Non-Voting Shares	Buy	6-Feb	127	35.58	R\$ 4,518.66
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	218	35.60	R\$ 7,760.80
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	244	35.63	R\$ 8,693.72
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	563	35.67	R\$ 20,082.21
Non-Voting Shares	Buy	6-Feb	92	35.68	R\$ 3,282.56
Non-Voting Shares	Buy	6-Feb	58	35.69	R\$ 2,070.02
Non-Voting Shares	Buy	6-Feb	68	35.70	R\$ 2,427.60
Non-Voting Shares	Buy	6-Feb	28	35.71	R\$ 999.88
Non-Voting Shares	Buy	6-Feb	30	35.72	R\$ 1,071.60
Non-Voting Shares	Buy	6-Feb	13	35.73	R\$ 464.49
Non-Voting Shares	Buy	6-Feb	60	35.20	R\$ 2,112.00
Non-Voting Shares	Buy	6-Feb	132	35.21	R\$ 4,647.72
Non-Voting Shares	Buy	6-Feb	116	35.22	R\$ 4,085.52
Non-Voting Shares	Buy	6-Feb	221	35.23	R\$ 7,785.83
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	81	35.31	R\$ 2,860.11
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	130	35.38	R\$ 4,599.40
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Table voting offaces	ьuy	0-1 60	13	55.45	1 (ψ 400.00

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	108	35.50	R\$ 3,834.00
Non-Voting Shares	Buy	6-Feb	187	35.51	R\$ 6,640.37
Non-Voting Shares	Buy	6-Feb	59	35.52	R\$ 2,095.68
Non-Voting Shares	Buy	6-Feb	113	35.53	R\$ 4,014.89
Non-Voting Shares	Buy	6-Feb	185	35.54	R\$ 6,574.90
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30

N	_				54
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
Non-Voting Shares	Buy	6-Feb	275	35.57	R\$ 9,781.75
Non-Voting Shares	Buy	6-Feb	127	35.58	R\$ 4,518.66
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	218	35.60	R\$ 7,760.80
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	244	35.63	R\$ 8,693.72
Non-Voting Shares	Buy	6-Feb	44	35.64	R\$ 1,568.16
Non-Voting Shares	Buy	6-Feb	135	35.65	R\$ 4,812.75
Non-Voting Shares	Buy	6-Feb	302	35.66	R\$ 10,769.32
Non-Voting Shares	Buy	6-Feb	563	35.67	R\$ 20,082.21
Non-Voting Shares	Buy	6-Feb	92	35.68	R\$ 3,282.56
Non-Voting Shares	Buy	6-Feb	58	35.69	R\$ 2,070.02
•	•	6-Feb	68	35.70	
Non-Voting Shares	Buy				R\$ 2,427.60
Non-Voting Shares	Buy	6-Feb	28	35.71	R\$ 999.88
Non-Voting Shares	Buy	6-Feb	30	35.72	R\$ 1,071.60
Non-Voting Shares	Buy	6-Feb	13	35.73	R\$ 464.49
Non-Voting Shares	Buy	6-Feb	176	35.26	R\$ 6,205.76
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
					R\$ 460.85
Non-Voting Shares	Buy	6-Feb	13	35.45	
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	120	35.58	R\$ 4,269.60
Non-Voting Shares	Buy	6-Feb	320	35.59	R\$ 11,388.80
•	,				• •

Non-Voting Shares	Buy	6-Feb	218	35.60	R\$ 7,760.80
Non-Voting Shares	Buy	6-Feb	134	35.61	R\$ 4,771.74
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	195	35.63	R\$ 6,947.85
Non-Voting Shares	Buy	6-Feb	45	35.64	R\$ 1,603.80
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	56	35.28	R\$ 1,975.68
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	14	35.32	R\$ 494.48
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	11	35.37	R\$ 389.07
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	•	6-Feb	54	35.63	R\$ 1,924.02
<u> </u>	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	175	35.26	
Non-Voting Shares	Buy				R\$ 6,170.50
Non-Voting Shares	Buy	6-Feb	26 05	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	95 46	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	5	35.39	R\$ 176.95
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	75	35.44	R\$ 2,658.00
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buv	6-Feb	4	35.49	R\$ 141.96

Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	188	35.54	R\$ 6,681.52
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
•	•		316		· · ·
Non-Voting Shares	Buy	6-Feb		35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	219	35.60	R\$ 7,796.40
Non-Voting Shares	Buy	6-Feb	135	35.61	R\$ 4,807.35
Non-Voting Shares	Buy	6-Feb	46	35.62	R\$ 1,638.52
Non-Voting Shares	Buy	6-Feb	193	35.63	R\$ 6,876.59
Non-Voting Shares	Buy	6-Feb	45	35.64	R\$ 1,603.80
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	1	35.16	R\$ 35.16
Non-Voting Shares	Buy	6-Feb	58	35.20	R\$ 2,041.60
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	116	35.22	R\$ 4,085.52
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50
Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
•	-	6-Feb		35.31	
Non-Voting Shares	Buy		80		R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	-	6-Feb	190	35.53 35.54	
•	Buy				R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30

Non-Voting Shares Buy						
Non-Voting Shares Buy 6-Feb 115 35.59 R\$ 11,210.85 Non-Voting Shares Buy 6-Feb 217 35.60 R\$ 7,725.20 Non-Voting Shares Buy 6-Feb 127 35.60 R\$ 7,725.20 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.70.75.20 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.70.76.70 Non-Voting Shares Buy 6-Feb 148 35.62 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 148 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 136 35.65 R\$ 1,809.66 Non-Voting Shares Buy 6-Feb 136 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 303 35.67 R\$ 2,427.60 Non-Voting Shares Buy 6-Feb 303 35.69 R\$ 2,1411.00 Non-Voting Shares Buy 6-Feb 303 35.70 R\$ 2,427.60 Non-Voting Shares Buy 6-Feb 303 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 47 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 48 35.30 R\$ 1,171.60 Non-Voting Shares Buy 6-Feb 46 35.71 R\$ 282.84 Non-Voting Shares Buy 6-Feb 47 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 48 35.30 R\$ 1,151.790 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,151.790 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 2,824.84 Non-Voting Shares Buy 6-Feb 43 35.33 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 2,824.84 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 43 35.31 R\$ 4,493.26	Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares Buy 6-Feb 145 35.60 R\$ 7,725.20 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 48 35.62 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 48 35.62 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 48 35.62 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 41 35.64 R\$ 1,461.24 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 55 35.67 R\$ 20,082.21 Non-Voting Shares Buy 6-Feb 56 30 35.67 R\$ 20,082.21 Non-Voting Shares Buy 6-Feb 56 30 35.67 R\$ 20,082.21 Non-Voting Shares Buy 6-Feb 6-	Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares Buy 6-Feb 145 35.60 R\$ 7,725.20 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 48 35.62 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 41 35.64 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 41 35.64 R\$ 1,800.61 Non-Voting Shares Buy 6-Feb 41 35.65 R\$ 4,848.40 Non-Voting Shares Buy 6-Feb 41 35.65 R\$ 1,0804.98 Non-Voting Shares Buy 6-Feb 563 35.67 R\$ 2,008.21 Non-Voting Shares Buy 6-Feb 60 35.69 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 60 35.69 R\$ 2,214.14 Non-Voting Shares Buy 6-Feb 60 35.69 R\$ 2,214.14 Non-Voting Shares Buy 6-Feb 68 35.70 R\$ 2,247.60 Non-Voting Shares Buy 6-Feb 30 35.77 R\$ 2,247.60 Non-Voting Shares Buy 6-Feb 30 35.77 R\$ 2,247.60 Non-Voting Shares Buy 6-Feb 30 35.77 R\$ 2,427.60 Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 30 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 40 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 40 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 40 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 40 35.33 R\$ 47.92 Non-Voting Shares Buy 6-Feb 40 35.33 R\$ 47.92 Non-Voting Shares Buy 6-Feb 40 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 40 35.30 R\$ 1,517.65 Non-Voting Shares Buy 6-Feb 4	Non-Voting Shares	Buy	6-Feb	115	35.58	R\$ 4,091.70
Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 136 35.65 R\$ 1,461.24 Non-Voting Shares Buy 6-Feb 136 35.65 R\$ 1,0804.98 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 69 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 69 35.68 R\$ 3,175.52 Non-Voting Shares Buy 6-Feb 69 35.68 R\$ 3,175.52 Non-Voting Shares Buy 6-Feb 60 35.69 R\$ 2,141.40 Non-Voting Shares Buy 6-Feb 68 35.70 R\$ 2,2427.60 Non-Voting Shares Buy 6-Feb 26 35.71 R\$ 928.46 Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 13 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,435.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 43 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 44 35.33 R\$ 459.16 Non-Voting Shares Buy 6-Feb 44 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 45 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 47 35.34 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 47 35.47 R\$ 35.76 Non-Voting Shares Buy 6-Feb 47	Non-Voting Shares	Buy	6-Feb	315	35.59	R\$ 11,210.85
Non-Voting Shares Buy 6-Feb 148 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 136 35.64 R\$ 1,709.76 Non-Voting Shares Buy 6-Feb 136 35.65 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 136 35.65 R\$ 1,0804.98 Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 10,804.98 Non-Voting Shares Buy 6-Feb 689 35.68 R\$ 3,175.52 Non-Voting Shares Buy 6-Feb 69 39 35.68 R\$ 3,175.52 Non-Voting Shares Buy 6-Feb 68 35.60 R\$ 2,141.40 Non-Voting Shares Buy 6-Feb 68 35.70 R\$ 2,242.60 Non-Voting Shares Buy 6-Feb 68 35.70 R\$ 2,242.60 Non-Voting Shares Buy 6-Feb 68 35.70 R\$ 2,242.60 Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 13 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 13 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 44 35.33 R\$ 459.16 Non-Voting Shares Buy 6-Feb 44 35.33 R\$ 459.16 Non-Voting Shares Buy 6-Feb 44 35.33 R\$ 459.16 Non-Voting Shares Buy 6-Feb 44 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 44 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 44 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 45 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 47 35.47 R\$ 35.47 R\$ 35.56 Non-Voting Shares Buy 6-	Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares Buy 6-Feb 24 35.62 R\$ 1,709.76	•		6-Feb	145	35.61	
Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61	•	•				
Non-Voting Shares Buy 6-Feb 41 35.64 R\$ 1,461.24	•	•				
Non-Voting Shares Buy 6-Feb 303 35.66 R\$ 4,848.40 Non-Voting Shares Buy 6-Feb 563 35.67 R\$ 20,082.21 Non-Voting Shares Buy 6-Feb 603 35.68 R\$ 3,175.52 Non-Voting Shares Buy 6-Feb 604 35.69 R\$ 2,141.40 Non-Voting Shares Buy 6-Feb 606 35.69 R\$ 2,247.60 Non-Voting Shares Buy 6-Feb 608 35.70 R\$ 2,247.60 Non-Voting Shares Buy 6-Feb 608 35.71 R\$ 928.46 Non-Voting Shares Buy 6-Feb 266 35.71 R\$ 928.46 Non-Voting Shares Buy 6-Feb 300 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 133 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 408 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 468 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 468 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 438 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 438 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 138 35.34 R\$ 847.90 Non-Voting Shares Buy 6-Feb 148 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 148 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 138 35.34 R\$ 847.90 Non-Voting Shares Buy 6-Feb 138 35.34 R\$ 847.66 Non-Voting Shares Buy 6-Feb 138 35.44 R\$ 743.61 Non-Voting Shares Buy 6-Feb 138 35.44 R\$ 34.61 Non-Voting Shares Buy 6-Feb 138 35.44 R\$ 34.61 Non-Voting Shares Buy 6-Feb 139	_	•				
Non-Voting Shares Buy 6-Feb 563 35.66 R\$ 10.804.98	9	-				
Non-Voting Shares Buy 6-Feb 89 35.68 R\$ 3,175.52	•					• •
Non-Voting Shares	•	•				•
Non-Voting Shares	•	-				
Non-Voting Shares	_	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 26 35.71 R\$ 928.46 Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 13 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.31 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 661.22 <		•				
Non-Voting Shares Buy 6-Feb 30 35.72 R\$ 1,071.60 Non-Voting Shares Buy 6-Feb 13 35.73 R\$ 464.49 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 459.16 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 13 35.31 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.37 R\$ 44.93.26	9	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 47.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26	•	•				
Non-Voting Shares Buy 6-Feb 174 35.26 R\$ 6,135.24 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.24 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.33 R\$ 47.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 13 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 <t< td=""><td>•</td><td>•</td><td></td><td></td><td></td><td></td></t<>	•	•				
Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.33 R\$ 47.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 4738.24 Non-Voting Shares Buy 6-Feb 12 35.41 R\$ 4738.24		· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 43 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 43 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 <	_	-				
Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 2,661.00 <	Non-Voting Shares	Buy				
Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 14.15.65 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 76 35.45 R\$ 460.85	Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,793.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85	Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 366.65 N	Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 2,83.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 460.85 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 No	Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 8 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 460.85 Non	Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 1 35.45 R\$ 36.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 No	•	· · · · · · · · · · · · · · · · · · ·	6-Feb	24	35.33	
Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96	•	•				
Non-Voting Shares Buy 6-Feb 10 35.37 R\$ 353.70 Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 16 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 <	•	•				
Non-Voting Shares Buy 6-Feb 127 35.38 R\$ 4,493.26 Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 <t< td=""><td>_</td><td>· · · · · · · · · · · · · · · · · · ·</td><td></td><td></td><td></td><td></td></t<>	_	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares Buy 6-Feb 4 35.39 R\$ 141.56 Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 N		•				·
Non-Voting Shares Buy 6-Feb 21 35.41 R\$ 743.61 Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36	•	•				
Non-Voting Shares Buy 6-Feb 8 35.43 R\$ 283.44 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98		•				
Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75	•	•				·
Non-Voting Shares Buy 6-Feb 13 35.45 R\$ 460.85 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18		-				
Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 <t< td=""><td>_</td><td>•</td><td></td><td></td><td></td><td></td></t<>	_	•				
Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 <		•				•
Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21	•	•				
Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	•				·
Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60		•				• •
Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	_	•				·
Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	•				
Non-Voting Shares Buy 6-Feb 112 35.53 R\$ 3,979.36 Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	•				
Non-Voting Shares Buy 6-Feb 187 35.54 R\$ 6,645.98 Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	•				
Non-Voting Shares Buy 6-Feb 25 35.55 R\$ 888.75 Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	•				
Non-Voting Shares Buy 6-Feb 84 35.56 R\$ 2,987.04 Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	•	Buy				
Non-Voting Shares Buy 6-Feb 274 35.57 R\$ 9,746.18 Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	Non-Voting Shares	Buy	6-Feb			
Non-Voting Shares Buy 6-Feb 123 35.58 R\$ 4,376.34 Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares Buy 6-Feb 319 35.59 R\$ 11,353.21 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	Non-Voting Shares	Buy	6-Feb	123	35.58	R\$ 4,376.34
Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	Non-Voting Shares	Buy	6-Feb	319	35.59	R\$ 11,353.21
	Non-Voting Shares	•	6-Feb	216	35.60	R\$ 7,689.60
	Non-Voting Shares	Buy	6-Feb	134	35.61	R\$ 4,771.74

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	197	35.63	R\$ 7,019.11
Non-Voting Shares	Buy	6-Feb	42	35.64	R\$ 1,496.88
Non-Voting Shares	Buy	6-Feb	63	35.65	R\$ 2,245.95
Non-Voting Shares	Buy	6-Feb	1	35.16	R\$ 35.16
Non-Voting Shares	Buy	6-Feb	58	35.20	R\$ 2,041.60
Non-Voting Shares	Buy	6-Feb	133	35.21	R\$ 4,682.93
Non-Voting Shares	Buy	6-Feb	116	35.22	R\$ 4,085.52
Non-Voting Shares	Buy	6-Feb	222	35.23	R\$ 7,821.06
Non-Voting Shares	Buy	6-Feb	194	35.25	R\$ 6,838.50

Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	95	35.28	R\$ 3,351.60
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	12	35.32	R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
•	_			35.39	
Non-Voting Shares	Buy	6-Feb	21		R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	110	35.53	R\$ 3,908.30
Non-Voting Shares	Buy	6-Feb	190	35.54	R\$ 6,752.60
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	116	35.58	R\$ 4,127.28
Non-Voting Shares	Buy	6-Feb	314	35.59	R\$ 11,175.26
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	145	35.61	R\$ 5,163.45
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	248	35.63	R\$ 8,836.24
Non-Voting Shares	_	6-Feb	41	35.64	R\$ 1,461.24
•	Buy				
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	304	35.66	R\$ 10,840.64
Non-Voting Shares	Buy	6-Feb	562	35.67	R\$ 20,046.54
Non-Voting Shares	Buy	6-Feb	89	35.68	R\$ 3,175.52
Non-Voting Shares	Buy	6-Feb	60	35.69	R\$ 2,141.40
Non-Voting Shares	Buy	6-Feb	68	35.70	R\$ 2,427.60
Non-Voting Shares	Buy	6-Feb	25	35.71	R\$ 892.75
Non-Voting Shares	Buy	6-Feb	31	35.72	R\$ 1,107.32
Non-Voting Shares	Buy	6-Feb	13	35.73	R\$ 464.49
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares	Buy	6-Feb	96	35.28	R\$ 3,386.88

Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	184	35.54	R\$ 6,539.36
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	273	35.57	R\$ 9,710.61
Non-Voting Shares	Buy	6-Feb	124	35.58	R\$ 4,411.92
Non-Voting Shares	Buy	6-Feb	317	35.59	R\$ 11,282.03
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	246	35.63	R\$ 8,764.98
Non-Voting Shares	Buy	6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	184	35.66	R\$ 6,561.44
Non-Voting Shares	Buy	6-Feb	104	35.67	R\$ 35.67
Non-Voting Shares	Buy	6-Feb	73	35.68	R\$ 2,604.64
Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares	•	6-Feb	11	35.29	R\$ 388.19
Non-Voting Shares	Buy Buy	6-Feb	44	35.29	R\$ 1,553.20
Non-Voting Shares	Вuy	6-Feb	80	35.31	R\$ 2,824.80
•	•	6-Feb	12	35.32	
Non-Voting Shares	Buy				R\$ 423.84
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06

Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
Non-Voting Shares	Buy	6-Feb	276	35.57	R\$ 9,817.32
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	207	35.59	R\$ 7,367.13
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	56	35.61	R\$ 1,994.16
Non-Voting Shares	Buy	6-Feb	19	35.62	R\$ 676.78
Non-Voting Shares	Buy	6-Feb	4	35.63	R\$ 142.52
Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares	Buy	6-Feb	260	35.26	R\$ 9,167.60
Non-Voting Shares	Buy	6-Feb	26	35.27	R\$ 917.02
Non-Voting Shares	Buy	6-Feb	97	35.28	R\$ 3,422.16
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
<u> </u>	•	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy			35.31	
Non-Voting Shares	Buy	6-Feb	79		R\$ 2,789.49
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	3	35.39	R\$ 106.17
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	184	35.54	R\$ 6,539.36
Non-Voting Shares	Buy	6-Feb	26	35.55	R\$ 924.30
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48
Non-Voting Shares	Buy	6-Feb	273	35.57	R\$ 9,710.61
Non-Voting Shares	Buy	6-Feb	124	35.58	R\$ 4,411.92
Non-Voting Shares	Buy	6-Feb	317	35.59	R\$ 11,282.03
Non-Voting Shares	Buy	6-Feb	217	35.60	R\$ 7,725.20
Non-Voting Shares	Buy	6-Feb	147	35.61	R\$ 5,234.67
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	246	35.63	R\$ 8,764.98
<u> </u>		6-Feb	43	35.64	R\$ 1,532.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	6-Feb	136	35.65	R\$ 4,848.40
Non-Voting Shares	Buy	6-Feb	184	35.66	R\$ 6,561.44
Non-Voting Shares	Buy	6-Feb	1	35.67	R\$ 35.67

Non-Voting Shares Buy 6-Feb 13 35.68 R\$ 1,570.36 Non-Voting Shares Buy 6-Feb 14 35.23 R\$ 2,604.64 Non-Voting Shares Buy 6-Feb 15 35.25 R\$ 8,873.75 Non-Voting Shares Buy 6-Feb 15 35.25 R\$ 8,873.75 Non-Voting Shares Buy 6-Feb 259 35.26 R\$ 9,132.34 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 48 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,893.92 Non-Voting Shares Buy 6-Feb 42 35.30 R\$ 1,482.60 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 19 35.38 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 19 35.38 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 19 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 19 35.38 R\$ 4,664.02 Non-Voting Shares Buy 6-Feb 19 35.38 R\$ 4,664.02 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 4,263.44 Non-Voting Shares Buy 6-Feb 19 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 19 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 19 35.50 R\$ 4,806.50 Non-Voting Shares Buy 6-Feb 18 35.54 R\$ 6,674.90 Non-Voting Shares Buy 6-Feb 18 35.54 R\$ 6,674.90 Non-Voting Shares Buy 6-Feb 18 35.56 R\$ 4,806.50 Non-Voting Shares Buy 6-Feb 18 35.56 R\$ 4,806.50 Non-Voting Shares Buy 6-Feb 18 35.56 R\$ 8,674.90 Non-Voting Shares Buy 6-Feb 18 35.56 R\$ 8,674.90 Non-Voting Shares Buy 6-Feb 43 35.50 R\$ 8,107.41 Non						
Non-Voting Shares Buy 6-Feb 195 35.25 R\$ 6,873.23 Non-Voting Shares Buy 6-Feb 259 35.26 R\$ 6,873.23 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.23 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.23 Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,833.251 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,839.39 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,839.39 Non-Voting Shares Buy 6-Feb 48 35.20 R\$ 1,482.60 Non-Voting Shares Buy 6-Feb 40 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.81 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.81 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 47,782 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 47,782 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 47,82 Non-Voting Shares Buy 6-Feb 135 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 135 35.39 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 12 35.34 R\$ 508.20 Non-Voting Shares Buy 6-Feb 135 35.34 R\$ 3636.12 Non-Voting Shares Buy 6-Feb 135 35.34 R\$ 4564.02 Non-Voting Shares Buy 6-Feb 135 35.34 R\$ 47,82 Non-Voting Shares Buy 6-Feb 136 35.34 R\$ 363.31 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 136 35.47 R\$ 318.33 Non-Voting Shares Buy 6-Feb 136 35.47 R\$ 318.34 Non-Voting Shares Buy 6-Feb 137 35.57 R\$ 49.950.60 Non-Voting Shares Buy 6-Feb 138 35.51 R\$ 4,640.02 Non-Voting Shares Buy 6-Feb 137 35.52 R\$ 4,640.02 Non-Voting Shares Buy 6-Feb 137 35.54 R\$ 6,675.88 Non-Vot	Non-Voting Shares	Buy	6-Feb	73	35.68	R\$ 2,604.64
Non-Voting Shares Buy 6-Feb 259 35.26 R\$ 9,132.34 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 27 35.27 R\$ 952.29 Non-Voting Shares Buy 6-Feb 35 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,482.60 Non-Voting Shares Buy 6-Feb 48 35.20 R\$ 1,482.60 Non-Voting Shares Buy 6-Feb 48 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 48 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 48 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 48 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 48 35.33 R\$ 4728.84 Non-Voting Shares Buy 6-Feb 48 35.34 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 48 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 48 35.34 R\$ 4738.84 Non-Voting Shares Buy 6-Feb 49 35.37 R\$ 473.81 38.33 Non-Voting Shares Buy 6-Feb 49 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 40 35.39 R\$ 106.12 Non-Voting Shares Buy 6-Feb 40 35.34 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 40 35.34 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 40 35.34 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 40 35.41 R\$ 6,865.80 Non-Voting Shares Buy 6-Feb 40 35.41 R\$ 6,863.80 Non-Voting Shares Buy 6-Feb 41 35.47 R\$ 318.37 Non-Voting Shares Buy 6-Feb 41 35.47 R\$ 3,842.84 Non-Voting Shares Buy 6-Feb 43 35.40 R\$ 3,863.61 R\$ 4,763.80 Non-Voting Shares Buy 6-Feb 43 35.91 R\$ 4,661.00 Non-Voting Shares Buy 6-Feb 43 35.91 R\$ 4,664.02 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 43 35.91 R\$ 4,664.02 R\$ 4,564.02	Non-Voting Shares	Buy	6-Feb	44	35.69	R\$ 1,570.36
Non-Voting Shares Buy 6-Feb 95 35.26 RS 9,132.34 Non-Voting Shares Buy 6-Feb 95 35.28 RS 9,52.29 Non-Voting Shares Buy 6-Feb 95 35.28 RS 9,52.29 Non-Voting Shares Buy 6-Feb 48 35.29 RS 1,693.92 Non-Voting Shares Buy 6-Feb 48 35.29 RS 1,693.92 Non-Voting Shares Buy 6-Feb 48 35.31 RS 2,824.80 Non-Voting Shares Buy 6-Feb 48 35.31 RS 2,824.80 Non-Voting Shares Buy 6-Feb 24 35.30 RS 2,824.80 Non-Voting Shares Buy 6-Feb 24 35.31 RS 2,824.80 Non-Voting Shares Buy 6-Feb 24 35.33 RS 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 RS 9,132.34 RS 636.12 Non-Voting Shares Buy 6-Feb 35.37 RS 318.33 Non-Voting Shares Buy 6-Feb 36 35.37 RS 318.33 Non-Voting Shares Buy 6-Feb 36 35.41 RS 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 RS 9,164.02 Non-Voting Shares Buy 6-Feb 9 35.44 RS 2,693.44 Non-Voting Shares Buy 6-Feb 9 35.45 RS 4,265.40 Non-Voting Shares Buy 6-Feb 12 35.45 RS 4,2693.44 Non-Voting Shares Buy 6-Feb 12 35.46 RS 2,693.44 Non-Voting Shares Buy 6-Feb 16 36 35.46 RS 2,693.44 Non-Voting Shares Buy 6-Feb 15 35.47 RS 36.47 RS 36.47 Non-Voting Shares Buy 6-Feb 15 35.48 RS 2,661.00 Non-Voting Shares Buy 6-Feb 15 35.50 RS 3,899.50 Non-Voting Shares Buy 6-Feb 18 35.51 RS 4,364.95 Non-Voting Shares Buy 6-Feb 18 35.51 RS 9,399.50 Non-Voting Shares Buy 6-Feb 18 35.52 RS 9,291.48 Non-Voting Shares Buy 6-Feb 18 35.57 RS 9,999.60 Non-Voting Shares Buy 6-Feb 18 35.57 RS 9,999.60 Non-Voting Shares Buy 6-Feb 18 35.50 RS 1,675.88 Non-Voting Shares Buy 6-Feb 18 35.50 RS 1,675.88 Non-Voting Shares	Non-Voting Shares	Buy	6-Feb	1	35.23	R\$ 35.23
Non-Voting Shares Buy 6-Feb 95 35.28 R\$ 3,351.60 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,683.92 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,683.92 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 437.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 437.92 Non-Voting Shares Buy 6-Feb 18 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 18 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 129 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 20 35.39 R\$ 1,682.02 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 20 35.44 R\$ 2,683.44 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 20 35.44 R\$ 2,683.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 13 35.44 R\$ 2,683.44 Non-Voting Shares Buy 6-Feb 14 35.47 R\$ 36.67 Non-Voting Shares Buy 6-Feb 15 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 16 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 16 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 17 35.48 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,787.89 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,867.88 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,867.88 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,867.89 Non-Voting Shares Buy 6-Feb 18 35.54 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 18 35.55 R\$ 1,314.96 Non-Voting Shares Buy 6-Feb 18 35.56 R\$ 2,921.48 Non-Voting Shares Buy 6-Feb 18 35.57 R\$ 9,999.60 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,999.60 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,999.60 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,999.60 Non-Voting Shares Buy 6-Feb 27 35.60 R\$ 1,41.96 Non-Voting Shares Buy 6-Feb 28 35.50 R\$ 1,613.40 R\$ 2,601.00 R\$ 3,869.50 R\$ 1,613.40 R\$ 3,869.50 R\$ 1,613.40 R\$ 3,869.50 R\$ 3,869.50 R\$ 3,869.50 R\$ 3,869.50	Non-Voting Shares	Buy	6-Feb	195	35.25	R\$ 6,873.75
Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,693.92 Non-Voting Shares Buy 6-Feb 48 35.29 R\$ 1,693.92 Non-Voting Shares Buy 6-Feb 42 35.30 R\$ 1,482.60 Non-Voting Shares Buy 6-Feb 12 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 13 35.33 R\$ 487.92 Non-Voting Shares Buy 6-Feb 13 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 134 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 2,664.00 Non-Voting Shares Buy 6-Feb 129 35.44 R\$ 2,669.34 Non-Voting Shares Buy 6-Feb 129 35.47 R\$ 318.57 Non-Voting Shares Buy 6-Feb 129 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 129 35.47 R\$ 36.54 R\$ 2,669.00 Non-Voting Shares Buy 6-Feb 129 35.47 R\$ 3	Non-Voting Shares	Buy	6-Feb	259	35.26	R\$ 9,132.34
Non-Voting Shares Buy G-Feb A8 A5.29 R\$1,683.92 Non-Voting Shares Buy G-Feb B0 A5.31 R\$2,824.80 Non-Voting Shares Buy G-Feb B0 A5.31 R\$2,824.80 Non-Voting Shares Buy G-Feb B12 A5.32 R\$423.84 Non-Voting Shares Buy G-Feb B13 A5.34 R\$423.84 Non-Voting Shares Buy R-Feb B14 B35.34 R\$423.84 R\$636.12 Non-Voting Shares Buy R-Feb B18 B35.34 R\$636.12 Non-Voting Shares Buy R-Feb B19 R\$5.36 R\$4,738.24 Non-Voting Shares Buy R-Feb B12 B15.33 R\$4,564.02 Non-Voting Shares Buy R-Feb B12 B15.33 R\$4,564.02 Non-Voting Shares Buy R-Feb B17 B18 B18 B18 B19	Non-Voting Shares	Buy	6-Feb	27	35.27	R\$ 952.29
Non-Voting Shares Buy 6-Feb 48 35.29 R\$1,683.92 Non-Voting Shares Buy 6-Feb 80 35.31 R\$2,824.80 Non-Voting Shares Buy 6-Feb 80 35.31 R\$2,824.80 Non-Voting Shares Buy 6-Feb 12 35.32 R\$423.84 Non-Voting Shares Buy 6-Feb 18 35.34 R\$636.12 Non-Voting Shares Buy 6-Feb 19 35.37 R\$318.33 Non-Voting Shares Buy 6-Feb 19 35.37 R\$318.33 Non-Voting Shares Buy 6-Feb 10 35.38 R\$4,738.24 Non-Voting Shares Buy 6-Feb 12 35.38 R\$4,564.02 Non-Voting Shares Buy 6-Feb 12 35.38 R\$4,564.02 Non-Voting Shares Buy 6-Feb 12 35.34 R\$708.20 Non-Voting Shares Buy 6-Feb 10 35.41 R\$708.20 Non-Voting Shares Buy 6-Feb 10 35.44 R\$2,663.40 Non-Voting Shares Buy 6-Feb 11 35.47 R\$5.45 Non-Voting Shares Buy 6-Feb 13 35.47 R\$318.87 Non-Voting Shares Buy 6-Feb 13 35.46 R\$1,276.56 Non-Voting Shares Buy 6-Feb 13 35.47 R\$35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$35.48 R\$2,661.00 Non-Voting Shares Buy 6-Feb 15 35.48 R\$2,661.00 Non-Voting Shares Buy 6-Feb 10 35.57 R\$3,869.50 Non-Voting Shares Buy 6-Feb 115 35.53 R\$4,085.95 Non-Voting Shares Buy 6-Feb 115 35.53 R\$4,085.95 Non-Voting Shares Buy 6-Feb 115 35.53 R\$4,085.95 Non-Voting Shares Buy 6-Feb 18 35.51 R\$6,675.86 Non-Voting Shares Buy 6-Feb 115 35.53 R\$4,085.95 Non-Voting Shares Buy 6-Feb 115 35.53 R\$4,085.95 Non-Voting Shares Buy 6-Feb 18 35.51 R\$6,675.86 No	Non-Voting Shares	Buy	6-Feb	95	35.28	
Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 13 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 19 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 12 35.39 R\$ 106.17 Non-Voting Shares Buy 6-Feb 12 35.34 R\$ 18.64.02 Non-Voting Shares Buy 6-Feb 12 35.34 R\$ 318.33 Non-Voting Shares Buy 6-Feb 13 35.39 R\$ 106.17 Non-Voting Shares Buy 6-Feb 13 35.39 R\$ 106.17 Non-Voting Shares Buy 6-Feb 13 35.41 R\$ 26.83.44 R\$ 2.693.44 Non-Voting Shares Buy 6-Feb 13 35.44 R\$ 2.693.44 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 2.693.44 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47	Non-Voting Shares		6-Feb	48	35.29	R\$ 1,693.92
Non-Voting Shares Buy 6-Feb 12 35.31 R\$ 2.824.80 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 423.84 Non-Voting Shares Buy 6-Feb 24 35.33 R\$ 847.92 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 19 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 106.17 Non-Voting Shares Buy 6-Feb 9 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 2,693.44 N	_	Buy	6-Feb	42	35.30	R\$ 1,482.60
Non-Voting Shares Buy 6-Feb 12 35.32 R\$ 423.84 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 18 35.34 R\$ 636.12 Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,584.02 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,584.02 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 106.17 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 106.17 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 106.17 R\$ 708.20 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 1318.87 Non-Voting Shares Buy 6-Feb 129 35.34 R\$ 1318.87 Non-Voting Shares Buy 6-Feb 120 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 120 35.44 R\$ 2,693.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 13 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 14 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 185 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 185 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 185 35.56 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 120 35.60 R\$ 6,865.49 Non-Voting Shares Buy 6-Feb 13 35.60 R\$ 6,8675.88 Non-Voting Shares Buy 6-Feb 145 35.60 R\$ 6,8675.89 Non-Voting Shares Buy 6-Fe	•					
Non-Voting Shares	<u> </u>					
Non-Voting Shares Buy 6-Feb 134 35.36 R\$ 4,738.24 Non-Voting Shares Buy 6-Feb 19 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 3 35.39 R\$ 106.17 Non-Voting Shares Buy 6-Feb 9 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 76 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 13 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 13 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 18 35.51 R\$ 6,675.88 <td< td=""><td><u> </u></td><td></td><td></td><td></td><td></td><td>· · · · · · · · · · · · · · · · · · ·</td></td<>	<u> </u>					· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	<u> </u>					· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares Buy 6-Feb 19 35.37 R\$ 318.33 Non-Voting Shares Buy 6-Feb 129 35.38 R\$ 4,564.02 Non-Voting Shares Buy 6-Feb 20 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non	_	_				
Non-Voting Shares Buy 6-Feb 3 35.38 R\$ 4,564.02	<u> </u>					
Non-Voting Shares	<u> </u>					· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares Buy 6-Feb 9 35.41 R\$ 708.20 Non-Voting Shares Buy 6-Feb 9 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 1 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 115 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.54 R\$ 6,754.90 <	•	•				
Non-Voting Shares Buy 6-Feb 76 35.43 R\$ 318.87 Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 185 35.55 R\$ 4,085.95 <tr< td=""><td>•</td><td></td><td></td><td></td><td></td><td></td></tr<>	•					
Non-Voting Shares Buy 6-Feb 76 35.44 R\$ 2,693.44 Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 1.41.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 157 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 125 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 44 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 47 35.68 R\$ 2,533.25 Non-Voting Shares Buy 6-Feb 47 35.69 R\$ 1,506.05 Non-Voting Shares Buy 6-Feb	_	_				
Non-Voting Shares Buy 6-Feb 12 35.45 R\$ 425.40 Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 75 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 175 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 185 35.55 R\$ 9,243.00 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,2951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 45 35.68 R\$ 2,233.28 Non-Voting Shares Buy 6-Feb 45 35.68 R\$ 2,233.28 Non-Voting Shares Buy 6-Feb 47 35.68 R\$ 2,233.28 Non-Voting Shares Bu	•					
Non-Voting Shares Buy 6-Feb 36 35.46 R\$ 1,276.56 Non-Voting Shares Buy 6-Feb 75 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,243.00 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 83 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 216 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 43 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 31 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 31 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,670.10 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 47 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6	•					
Non-Voting Shares Buy 6-Feb 1 35.47 R\$ 35.47 Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,669.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,674.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67	<u> </u>					•
Non-Voting Shares Buy 6-Feb 75 35.48 R\$ 2,661.00 Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 735.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,954.90 Non-Voting Shares Buy 6-Feb 33 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 <	<u> </u>					
Non-Voting Shares Buy 6-Feb 4 35.49 R\$ 141.96 Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,24.30 Non-Voting Shares Buy 6-Feb 280 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.68 R\$ 1,340.76	_	-				
Non-Voting Shares Buy 6-Feb 109 35.50 R\$ 3,869.50 Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60	<u> </u>	•				
Non-Voting Shares Buy 6-Feb 188 35.51 R\$ 6,675.88 Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,674.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 <td><u> </u></td> <td></td> <td></td> <td></td> <td></td> <td></td>	<u> </u>					
Non-Voting Shares Buy 6-Feb 57 35.52 R\$ 2,024.64 Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 9,959.43 Non-Voting Shares Buy 6-Feb 28 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 </td <td><u> </u></td> <td>•</td> <td></td> <td></td> <td></td> <td>· · ·</td>	<u> </u>	•				· · ·
Non-Voting Shares Buy 6-Feb 115 35.53 R\$ 4,085.95 Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 43 35.65 R\$ 4,705.80 <td><u> </u></td> <td></td> <td></td> <td></td> <td></td> <td></td>	<u> </u>					
Non-Voting Shares Buy 6-Feb 185 35.54 R\$ 6,574.90 Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 112 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 216 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 <td>_</td> <td>_</td> <td></td> <td></td> <td></td> <td></td>	_	_				
Non-Voting Shares Buy 6-Feb 26 35.55 R\$ 924.30 Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 <td></td> <td>_</td> <td></td> <td></td> <td></td> <td></td>		_				
Non-Voting Shares Buy 6-Feb 83 35.56 R\$ 2,951.48 Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 <		-				
Non-Voting Shares Buy 6-Feb 280 35.57 R\$ 9,959.60 Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05	9	_				
Non-Voting Shares Buy 6-Feb 122 35.58 R\$ 4,340.76 Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 1,606.05	<u> </u>	-				
Non-Voting Shares Buy 6-Feb 313 35.59 R\$ 11,139.67 Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96	•					
Non-Voting Shares Buy 6-Feb 216 35.60 R\$ 7,689.60 Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34	_	•				
Non-Voting Shares Buy 6-Feb 145 35.61 R\$ 5,163.45 Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 <tr< td=""><td>•</td><td></td><td></td><td></td><td></td><td></td></tr<>	•					
Non-Voting Shares Buy 6-Feb 47 35.62 R\$ 1,674.14 Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90	•	•				· · ·
Non-Voting Shares Buy 6-Feb 247 35.63 R\$ 8,800.61 Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	•	•				
Non-Voting Shares Buy 6-Feb 43 35.64 R\$ 1,532.52 Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	•	_				
Non-Voting Shares Buy 6-Feb 132 35.65 R\$ 4,705.80 Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	9					
Non-Voting Shares Buy 6-Feb 184 35.66 R\$ 6,561.44 Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	•					
Non-Voting Shares Buy 6-Feb 2 35.67 R\$ 71.34 Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	<u> </u>	•				
Non-Voting Shares Buy 6-Feb 71 35.68 R\$ 2,533.28 Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	<u> </u>	•				
Non-Voting Shares Buy 6-Feb 45 35.69 R\$ 1,606.05 Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	<u> </u>	Buy				
Non-Voting Shares Buy 6-Feb 3 35.70 R\$ 107.10 Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	Non-Voting Shares		6-Feb	71	35.68	R\$ 2,533.28
Non-Voting Shares Buy 6-Feb 57 35.28 R\$ 2,010.96 Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	Non-Voting Shares	Buy	6-Feb	45	35.69	R\$ 1,606.05
Non-Voting Shares Buy 6-Feb 46 35.29 R\$ 1,623.34 Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	Non-Voting Shares	Buy				
Non-Voting Shares Buy 6-Feb 43 35.30 R\$ 1,517.90 Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	Non-Voting Shares	Buy				R\$ 2,010.96
Non-Voting Shares Buy 6-Feb 80 35.31 R\$ 2,824.80	Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
· · · · · · · · · · · · · · · · · · ·	Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares Buy 6-Feb 13 35.32 R\$ 459.16	Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
	Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40

Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
<u> </u>	•				· ·
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares		6-Feb	76	35.44	R\$ 2,693.44
_	Buy		12	35.44	R\$ 425.40
Non-Voting Shares	Buy	6-Feb			•
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	115	35.53	R\$ 4,085.95
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
Non-Voting Shares	Buy	6-Feb	82	35.56	R\$ 2,915.92
Non-Voting Shares	Buy	6-Feb	282	35.57	R\$ 10,030.74
Non-Voting Shares	Buy	6-Feb	118	35.58	R\$ 4,198.44
Non-Voting Shares	Buy	6-Feb	296	35.59	R\$ 10,534.64
Non-Voting Shares	Buy	6-Feb	69	35.60	R\$ 2,456.40
3	- ,		_	_	. ,

Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	47	35.62	R\$ 1,674.14
Non-Voting Shares	Buy	6-Feb	54	35.63	R\$ 1,924.02
Non-Voting Shares	Buy	6-Feb	14	35.64	R\$ 498.96
Non-Voting Shares	Buy	6-Feb	11	35.29	R\$ 388.19
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	81	35.56	R\$ 2,880.36
Non-Voting Shares	Buy	6-Feb	276	35.57	R\$ 9,817.32
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	206	35.59	R\$ 7,331.54
Non-Voting Shares	Buy	6-Feb	70	35.60	R\$ 2,492.00
Non-Voting Shares	Buy	6-Feb	56	35.61	R\$ 1,994.16
Non-Voting Shares	Buy	6-Feb	19	35.62	R\$ 676.78
Non-Voting Shares	Buy	6-Feb	4	35.63	R\$ 142.52
Non-Voting Shares	Buy	6-Feb	12	35.29	R\$ 423.48
Non-Voting Shares	Buy	6-Feb	44	35.30	R\$ 1,553.20
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.32	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
•	-	6-Feb	10		
Non-Voting Shares	Buy			35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	2	35.39	R\$ 70.78
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	189	35.54	R\$ 6,717.06
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	83	35.56	R\$ 2,951.48

N	5	0.5.1	074	05.53	D# 0 740 40
Non-Voting Shares	Buy	6-Feb	274	35.57	R\$ 9,746.18
Non-Voting Shares	Buy	6-Feb	123	35.58	R\$ 4,376.34
Non-Voting Shares	Buy	6-Feb	206	35.59	R\$ 7,331.54
Non-Voting Shares	Buy	6-Feb	68	35.60	R\$ 2,420.80
Non-Voting Shares	Buy	6-Feb	58	35.61	R\$ 2,065.38
Non-Voting Shares	Buy	6-Feb	19	35.62	R\$ 676.78
Non-Voting Shares	Buy	6-Feb	5	35.63	R\$ 178.15
Non-Voting Shares	Buy	6-Feb	26	35.26	R\$ 916.76
Non-Voting Shares	Buy	6-Feb	28	35.27	R\$ 987.56
Non-Voting Shares	Buy	6-Feb	94	35.28	R\$ 3,316.32
Non-Voting Shares	Buy	6-Feb	46	35.29	R\$ 1,623.34
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
•	•				
Non-Voting Shares	Buy	6-Feb	24	35.33	R\$ 847.92
Non-Voting Shares	Buy	6-Feb	18	35.34	R\$ 636.12
Non-Voting Shares	Buy	6-Feb	134	35.36	R\$ 4,738.24
Non-Voting Shares	Buy	6-Feb	9	35.37	R\$ 318.33
Non-Voting Shares	Buy	6-Feb	128	35.38	R\$ 4,528.64
Non-Voting Shares	Buy	6-Feb	5	35.39	R\$ 176.95
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	12	35.45	R\$ 425.40
Non-Voting Shares	Buy	6-Feb	37	35.46	R\$ 1,312.02
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	58	35.52	R\$ 2,060.16
Non-Voting Shares	Buy	6-Feb	111	35.53	R\$ 3,943.83
Non-Voting Shares	Buy	6-Feb	191	35.54	R\$ 6,788.14
Non-Voting Shares	Buy	6-Feb	24	35.55	R\$ 853.20
_		6-Feb			
Non-Voting Shares	Buy		84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	284	35.57	R\$ 10,101.88
Non-Voting Shares	Buy	6-Feb	114	35.58	R\$ 4,056.12
Non-Voting Shares	Buy	6-Feb	316	35.59	R\$ 11,246.44
Non-Voting Shares	Buy	6-Feb	140	35.60	R\$ 4,984.00
Non-Voting Shares	Buy	6-Feb	63	35.61	R\$ 2,243.43
Non-Voting Shares	Buy	6-Feb	45	35.62	R\$ 1,602.90
Non-Voting Shares	Buy	6-Feb	106	35.63	R\$ 3,776.78
Non-Voting Shares	Buy	6-Feb	41	35.64	R\$ 1,461.24
Non-Voting Shares	Buy	6-Feb	8	35.65	R\$ 285.20
Non-Voting Shares	Buy	6-Feb	10	35.29	R\$ 352.90
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	14	35.32	R\$ 494.48
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
~	•				

Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	Buy	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy	6-Feb	76	35.44	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.45	R\$ 460.85
Non-Voting Shares	Buy	6-Feb	36	35.46	R\$ 1,276.56
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	75	35.48	R\$ 2,661.00
Non-Voting Shares	Buy	6-Feb	4	35.49	R\$ 141.96
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	188	35.51	R\$ 6,675.88
Non-Voting Shares	Buy	6-Feb	57	35.52	R\$ 2,024.64
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75
Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	202	35.59	R\$ 7,189.18
Non-Voting Shares	Buy	6-Feb	70	35.60	R\$ 2,492.00
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	19	35.62	R\$ 676.78
Non-Voting Shares	Buy	6-Feb	4	35.63	R\$ 142.52
Non-Voting Shares	Buy	6-Feb	10	35.29	R\$ 352.90
Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	14	35.32	R\$ 494.48
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	129	35.38	R\$ 4,564.02
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	21	35.41	R\$ 743.61
Non-Voting Shares	•	6-Feb	8	35.43	R\$ 283.44
Non-Voting Shares	Buy Buy	6-Feb	76	35.43	R\$ 2,693.44
Non-Voting Shares	Buy	6-Feb	13	35.44	R\$ 460.85
<u> </u>	-	6-Feb		35.46	R\$ 1,276.56
Non-Voting Shares	Buy		36		• •
Non-Voting Shares	Buy	6-Feb	1	35.47	R\$ 35.47
Non-Voting Shares	Buy	6-Feb	74	35.48	R\$ 2,625.52
Non-Voting Shares	Buy	6-Feb	5	35.49	R\$ 177.45
Non-Voting Shares	Buy	6-Feb	109	35.50	R\$ 3,869.50
Non-Voting Shares	Buy	6-Feb	189	35.51	R\$ 6,711.39
Non-Voting Shares	Buy	6-Feb	56	35.52	R\$ 1,989.12
Non-Voting Shares	Buy	6-Feb	112	35.53	R\$ 3,979.36
Non-Voting Shares	Buy	6-Feb	187	35.54	R\$ 6,645.98
Non-Voting Shares	Buy	6-Feb	25	35.55	R\$ 888.75

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	84	35.56	R\$ 2,987.04
Non-Voting Shares	Buy	6-Feb	278	35.57	R\$ 9,888.46
Non-Voting Shares	Buy	6-Feb	122	35.58	R\$ 4,340.76
Non-Voting Shares	Buy	6-Feb	202	35.59	R\$ 7,189.18
Non-Voting Shares	Buy	6-Feb	70	35.60	R\$ 2,492.00
Non-Voting Shares	Buy	6-Feb	57	35.61	R\$ 2,029.77
Non-Voting Shares	Buy	6-Feb	19	35.62	R\$ 676.78
Non-Voting Shares	Buy	6-Feb	4	35.63	R\$ 142.52
Non-Voting Shares	Buy	6-Feb	57	35.28	R\$ 2,010.96
Non-Voting Shares	Buy	6-Feb	47	35.29	R\$ 1,658.63

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	6-Feb	43	35.30	R\$ 1,517.90
Non-Voting Shares	Buy	6-Feb	80	35.31	R\$ 2,824.80
Non-Voting Shares	Buy	6-Feb	13	35.32	R\$ 459.16
Non-Voting Shares	Buy	6-Feb	23	35.33	R\$ 812.59
Non-Voting Shares	Buy	6-Feb	19	35.34	R\$ 671.46
Non-Voting Shares	Buy	6-Feb	133	35.36	R\$ 4,702.88
Non-Voting Shares	Buy	6-Feb	10	35.37	R\$ 353.70
Non-Voting Shares	Buy	6-Feb	127	35.38	R\$ 4,493.26
Non-Voting Shares	Buy	6-Feb	4	35.39	R\$ 141.56
Non-Voting Shares	Buy	6-Feb	20	35.41	R\$ 708.20
Non-Voting Shares	Buy	6-Feb	9	35.43	R\$ 318.87
Non-Voting Shares	Buy	6-Feb			